SCHEMATIC DIAGRAMS

MICRO COMPONENT MD SYSTEM

UX-Q1S, UX-Q1W

CD-ROM No.SML200410
Area suffix
UB - Hong kong
4 ] /7~ N [/ N
0 © OO0 ©
00 0 0 O ©
=t | |
\ RN ©j \ J
\ | — —I |
(SP-UXQ1S) (CA-UXQ1S) (SP-UXQ1S)
(SP-UXQ1W) (CA-UXQ1W) (SP-UXQ1W)
o COMPACT
VDLP (5
D[ISE DIGITAL AUDIO
Contents
BIOCK diagram  ----------nsmm e 2-1
Standard schematic diagrams -------==--===--=srmsmmmemmoe e 2-2
Printed circuit Doards --------------errmmmmmm 2-9t0 13
COPYRIGHT (© 2004 Victor Company of Japan, Limited. No.MB331SCH

2004/10




In regard with component parts appearing on the silk-screen printed side (parts side) of the PWB diagrams, the
parts that are printed over with black such as the resistor (mm), diode (wm) and ICP (@) or identified by the "A\
mark nearby are critical for safety.



Block diagrams

CD servo control section lCassette mechanism section Q2501
HEAD
TBAL, FBAL % BU+5V
I FE, TE, GCTL PBLPBR 1C32 SWITCH | |, - CD5V REG.
RFENV, OFT o} 'R-|Q|R/IP
PICKUP A+C, B+D, E, F BDO, ARF (T))t(JTL & RECLRECR ! pBIREC l Re R & HEAD T
olo|woio IC601  [/RFDET IC651 OUTR B AMP B Q2801 Q6951
FOCUSING | | |2|2 = RF & SERVO —> +8V —> RF10V
COIL SEEET AMP DSP :[ . CD8V REG. R.FILTER
e SRDATA
TRACKING LRCK SOATA IC33 ; [
colL FLAG, BLKOK BeK 2 PRt A S s >
) z
MCLK, MDATA & EXTENSION SWITeH SW10V REG. SWIOV' | \ipasv REeG. ASV
ML_D, /RESET
/DMUTE, STAT N SOLCTL' MOTOR S1+ MD5.4V
TRD IREFx4  CDCOPY Ic Q375 Q371 N
FOD CDTNO TXDO SOLENOID MOTOR - D5V
ECM CDEMP RXDO DRIVE DRIVE olo
ECS 1C251 — RESET (o] TO zZ|z
™D UNIT & FLASH soL (ws g5 -
|| MICON TXDO 3 KEY1, PLAY, PHOTO =
RXDO 8 S1+
RXDO IC101 e
1C801 CN652 |==ed CN651 DSOLENOlD P(i\’(AVER |0
FEED Fue, . | FOCUS, SPINDLE CNB02 || CNEOT =y S| sPEAKER
—Q————— FEED, TRACKING + R+ =
MOTOR FWD, REV o Ln.R
LOADING BTL /DRVMUTE =z
zl . .
DRIVER — S HMam section
SPINDLE SM+, SM- — CDL, CDR SMUTE Q1103,Q1203,Q1302 | |
MOTOR | % 2 - 601 SMUTE
OPEN [=} o l—
CLOSE |9 | o ALPHA - INL, INR I
POUTPAMP
LD+, LD- 2 @) TAPEL, TAPER SOUND Q6151
: x z Q6251 il <
. . . I3 = RECL, RECR 22 g|HP
Main section (Joint) e 2 : PS1 AHB proTECT| @1101,Q1102,Q1201 B &
CNG02 el -y | PS2 AR 2= Q1202,Q1301 2|2 I_g JACK
S e
LED & CD loading section LED & CD loading section 1 MIXLEV L Main section (HP)
(CD loading) o =
TRAY LOADING D1, D2 Z
SWITCH MOTOR LED Trans section (Regulator)
T IC311
FUNCTION VOL IC Q2601 | so+
MD5.4V REG.
MD servo control section L VOLCK | TUL |AUXL
1C390 LIN. RIN VOLCE  [TUR [AUXR o J
Iro : VOLDATA Z $1+,82+ [ D2901 to D2904
DRAM Z| DL, MDR 3 D2911 to S2914
o MDSTAT, MDCMD, MDRESET -
RDTOA to RDT3A L*‘ AC-DC
I RADOA to RAD11A LRCKI —
LM+, LM- NWEA, NRASA DATAI A
SWITCH |— o i G411 XBOKI WR201
Z LOADING 1C350 (Z*,. CN902
S MOTOR DSP A spAR |POUT Al Trans section (Trans.)
I DRIVER sws |y N CN102 | CN104 j=d CN103
SCL  |LouTaB — CN707 | CN701 == CN706
— CAM1 FS384  |rouTAB
CAM2 APCOM SSDR IC460 | LN, rIN 2 l J 3 2 2
MD LOADING CAM3 LOAD ssow e ' & voLCK POUTRELAY |3 & Q00T T9002 Lroot [—{ & |AC
MOTOR CAM4 EJECT N VOLCE FAN+B, PROTECT, S 8 RELAY SW 8 INPUT
VOLDATA POUTPAMP, SMUTE = @ -
COMMAND N MDSTAT AHB, PS1, PS2, EXCTL
STATUS —i— LCDR, RCDR MDCMD SOUNDCTL, MIXLEV
SPDM, SPDP COMCLK o LCDG, RCDG MDRESET Q7801 to Q7812
FODM, FODP STRDY Z | LCDB, RCDB (o] .
TRDM, TRDP LDON, CLV2 SET1, SET3 3 LED DRIVER System control section (LCD)
TVDM, TVDP RFSWPG MODESE o
RFSWHL RESET — SCK, SDATA [ Ds3a1 | [ ps3st |
PICKUP AB,C,D,EF APCD, ADIP o | STTA, KEY1 Q6901
RF1. RF2 AA, BB, CC 2| PLAY, PHOTOOUT LLCR, LLCG, LLCB LLCR, LLCG, LLCB
FOCUSING ol icé ro DD, FF1, FF2, 3 FAN RLCR, RLCG, RLCB RLCR, RLCG, RLCB
COIL & MON3T, NREC @ DRIVER LLEDR, LLEDG, LLEDB LCDSO, LCDRS, LCDSCL
> BOTM, PEAK — gggﬂ’go | RLEDR, RLEDG, RLEDB LCDXRESET, LCDCSB DI531
R IC310 CDTNO Q LCDSO, LCDRS LCD DISPLAY
é%’ﬁl_NG RF NRFSTBY, TFMP CDCOPY Z | CDRESET LCDSCL, LCDCSB
IC500 CDEMP 2 1C701 LCDXRESET
MCU
LDRVON, DRVON .
L SIGL SYSTEM System control section (Key)
SWITCH Q| TUCLK, TUDATAO | ¢ 5k MICON REM, KEYP
FCS+, FCS- MHON EFM DO, DI TO Z | TUCE, TUDATAI FKEY1, FKEY2
TRK+ TRK- SCL, CS TUNER 51 JOGL :JOGR 2 2 KEYP S5014 FKEY1 S5008 to
FEED 2 e o 1C410 1C450 3 : S & POWER S5013
MOTOR | A MOTOR M.HEAD IC590 — LOJ 2 sw
* DRIVER DRIVER EEPROM E2DATA FKEY2 | S5001 to
SPINDLE I REM $5007
MOTOR IC741 JOGL
MAG MAG+, MAG- | EEP ROM 1C501 JOGR
HEAD . REMOCON JS501
System control section




Standard schematic diagrams

B Transformer section

MAINS
PLUG

-
- . | [LvA10522-A2
N201
(\ acB2s510K2-08 |
< |
1 A ov
— -— S1GND p
oy T e LVA10522-A3 |
Fow 7.9V T9001
ﬂ ~ O cpsy I:E ov “ 8N8. I Boso1 =
- S2GND | 4 o=s 02 8 [}
T pA < REGGND E)Ovi & Aﬁ ig &8 ]iAg 2 A CN902
o o > MD5.4VE 5.3V ° a E OE 0 S WR201| QGA2501F1-05
-~ 7 e 3& 2z L. L .67vac FT922 FT921 \
- - e ! 16.7VAC NI NI
O NC E % * 2] s1B 22—
F I E < a a ml —13) s2A 3 :z:ziz FT932 FT931
F%L“RE’Q'?@ 9.2v § A § iié §115A§ 2 A —(4) s2B |4 . QNG0003-001Z QNG0003-001Z
2 oy afw o= 5] NC 5 >
| Q200 2 ) ) s I~
| 2SD601A/RS/-X Z E E F9003
D9001
158133-T2
ONLY UX-Q1 UB Ver 1 -9
- 3
A QN
= : "3
o
o
A 02910 = RY901
A1N4ooas-‘rs m QSK0124-001 /' \ 8
o]z 2 z { 5o ZAN :
: 0 anme N 7 -ol
¥ 7 TR K - == /AN -l 2l
S| 2 3 8 o5 5 5 LF901 A 20l
z o § ~ ol Q9001 QQR1321-001 0 gl
° o o8 2SD601A/RS/-X |
. 2 b40) |
(§]¢)
I | [IN40038-T5
5 0 usev
1= z] 3 5.8V
A A AK AL ERA ooy PouTRELAY Gooo2
.o 2Z ¥ = 2 1000/25
° = Ja} c ov Pi=ic !
8 8 s2v [, SUBTRDC :
o o | cxNGooosIEz-Jrg‘?z1 Froz !
oE ow - - QNG0003-001z |
VAN T AN < | AN /\ F9001 |
g 8 N * |
z 3 N | |
- = n | |
o | |
- L -
<
2
Q2601
MD5.4V REG /\ KTA1046/Y/ 0] * LIST
- - =
o3V 7Y Q1UB Q3UF Q3A Q3UT
©
o
@
208 o & ey T9001 QQT0451-003 | QQT0451-003 QQT0451-003 QQT0451-002
3 °
g g+ 3‘ 5
§ g b & T9002 QQT0253-003 QQT0253-003 QQT0253-002 QQT0253-001
ol o LF a)
5 § u - Q2602
8+ g 2 o oS F2001 T1AL T1AL T1AL T1.6AL
on N N
: s N
Q 5 2 F9003 T3.15AL - - -
0 § N
B9903 - - BUS BUS
° 2SD601A/RS/-X
<y Q2604 B9904 BUS BUS _ -
8 2SD601A/RS/-X
FT931 i} - -
FT932

1.VOLTAGES ARE DC-MEASURED WITH A DIGITAL VOLT METER

NOTES OR OSCILLOSCOPE WITHOUT INPUT SIGNAL.
CONDITION- CD STOP MODE

2.UNLESS OTHERWISE SPECIFIED.

ALL RESISTANCE VALUES ARE IN OHM(Q ).

ALL CAPACITORS ARE CERAMIC CAPACITOR OR MYLAR

CAPACITOR.

ALL CAPACITANCE VALUES ARE IN  # F(P=pF).
ALL INDUCTANCE VALUES ARE IN #H(m=mH).
ALL E.CAPACITORS ARE SHOWN IN THE FORM OF

CAPACITANCE ( # F)/RATED VOLTAGE (V).
3.NI MEANS NO INSERT

2-2

A\ Parts are safety assurance parts.
When replacing those parts make
sure to use the specified one.

SHEET 1



B Main section

F
F
LVA10521-A21 i
< ass0z
i 25D001ARS! X N Erits it
m X 3 o4 3 4 o el 2 ]
HHE 32y 3<y 3| ¥ gl 2 0% 5lé] 5 b % Ro1ss .
gl8|¢g 53t 532 4 O g| * 2 caron 2 81 cesrs fg 1ok MTZ047GT2 p ez
R3191 R3193 AUXL, 3 2 - F S8 o z | osn cosz2 H ¥ 100116
H 5 b resos 47 ¥
23 3 H
2 5 a2k 3 M +y 8 I N A
x B pe 8 8
B § N o § N
2 | v 8T% B 82 4y fsst - o znsione
< g3 g3t = Sang m m 33 g H| R §x
’ 3ls 8y ° J Wl o e ] B + + +[0¢
=] 838 I - - - ~
°Te 2358 AT N - -1 HR Ratos
rozor 0T8  mozes €90 AU 08 8 8 8L sl. 8ls s N G 2
5y HE 3| I H
319 2K 27K 108 2% S B gl g e 8
H i
QnNNo420-001 o0 — i - B
H Qs v— 5 ST 3 cors
H KTC3199/GLIT s gl g g 5oy +1058
° 5 o sav R3z63 Ras0z N 59 9 530 i
B i . [0¥%) > 3l 2l 2 NS N I IS N N N
H ; 2 . ) 3l 3 3| 3| 3 3 3| 3| 3| 3 > N N A4S
EH § 5.v e o T al o o & & &z] 2 2 a 2 3l 3 3 3 o R 3
a8 6 2|+ Ra301 R3165 L B <ol <l sl 3L < 200
[R— oo 5
[ e >
) gt B cazen Fouboy z g & oz £ & ¢ 2 & § 35 § & z ¢ ¢
o7 [ 2010 fgisE 3 ¢ ¥ 3 3
QGF1036C1-21 g Neg ™ H
012
©3261 + 1y 4.7/50 @ SOUND IC
RIN 1oy i e TIONVOL IC
3161 f— > 2 2 2 > > > 2
AcnD oy [2le 203 3 3% 3 3 2 33
i o S g a2 4 385 3 2503 %
H M
A5V aev |a H o 1
Fcozee o wor z b 0
o rout vl H [cas63 ¢ 5
- g osv sav [ TGO o ©;
. [l csies o a0 Reiez a7 I — i ;i
~ ¢ I iour v [z i
o 0 {kssez 9+ — aaroezi-0biz 101
S 2 _Boee oo b s
285 voour o o gads cazia M coss
29 5 omo o [ 358 N e
[ pl LRRR ¥ Ty
502 M sov iy w3363 | GaRoezi-001Z H
T o Meno ov [z o — DRESET 20
T Rmee 00 RoGHMD
n © ov 1® MDSTAT + 2
~ 0 sTatUs  ov |[1s] n 23 8% sssiara |
4 comcik ov |l 8y =9 52 |+ e
2 rorov v [ i g [+ cono e By @ _—
T bouTorr sy 1] . K Ly
£ R3365 8y o0 H ¢ Z bH
oiN v 1] §g8 g 8 o o F g°
UART asv |20 100 L ° 1551358
MODESEL asv [71 T o s
‘Goast oo csasa Goser
£
1
1
cntos |
QGFi120sF1-10 | R3155,
i j =
rect  ov [1
= L3 ey
e ov [z 3o, 3
—~ 3 1] 2k sy Taces)
N 2, reR v Bl ommessts 910 ¢
swav  sev |4 [
Oo o R3151 sls A re1ot POWER AMP IC
= - VA — Lasoze o 8
ol = Yod P - &
w8 as v o] razeT E 23 HE
L 90 e ov [7 e gl e th &5
H A
T i F e sav [ [ 13K
¢} = 3351, g 1N4003S-T5
%) i [ sav [of ¢
= 0 Mo ov
o oo
1 a0 o
[}
simic
8 i ; c1z00
cngot Riz11
corroaor LVA10521-A22 .
f
H2v R3s21 100 + £ @
o0 12k 8a 2
R e VAETT) 10135 F8(88 h
Rxpo jer oo~ ~ QNB0204-001
Ne B
[ moszs 100 ame
IReESET S
P41 Rosza v 00 -
< Tx ez [ra}— R1111 - 3
- o oozt = |
BU+5V +
—~ ? [ 12k = 9y o
[13) 8 I BUssV oY ka3z u}—] ore 8 238 Bk
2 (6] - o o OQREEETO0TE m 5 502 E I8 2l 0z LVA10521-A24
— 2 a
[ors s
= Y o peal Coros fe—' Slov Rizos 2sBTOSARIX B8 e e
L 2 = g [ oot 8¢ T oy BV . 25 5 g 5 & q ¢ gl
outt Ry iry o324 — 85 - H 8l :8Sn2Sn | 383y [ 3836 < |, NI g g g3
8 X o0 - N coo w 1 on -] 2 < = ° & c
I Eipa = GaR06ZT00TZ -7 ] 3 o8y NERak E2UIN 2 R S 3 8 b R S
T [OF) AGND o cazos [ e e @ [ov + o H 5T 8+ AR
o[+ 0 -
S Eleev 1050 = com & a6v 8 H = m A A i |% Rs601 300
wn ‘0 ouTR [=] - Gl [e] o A E] n B B J oA A4 S s 3
~ 2 MGND A Kasza 5 ey |4 2 sl gl 8 gl ¢
r— D QaR0621-0012 { o o ¢ R1109 + ¥ 1z |+ ¢ elo [ 5lef = g o I e Rsc02 300
MGND 5 o - Ria0n - o &7 o I §lg | 5Lls3 ¢ b 5 & R
o b b H o E 88 g2 N
w +8v 3 H K °o8 8T ol ~ STz | 5Tz 81+ o
o l { B conr @iz mE g g HHIHHH S HEEH S 0]ez i g A g .
7ov on oRNE cls e |5 R ] o ° RE604
O i HE 5 3555 £ ¢ .
- 89 os | L - S s =
B Ne  ov 31 Sl 4 ARERER 501
i H oo protectonr] £| £ T|8 §|8 ans0170-001
oG ov i oz HERIERY
—~ H
™ cNBo4 cocopyov. 2 cbsv Q2801
- H Lssos a7
T coszsionon P H CcD5V REG. A T o 8 9, 1p
~ \ REG. H x &2 &8
N o cosmaro [712Y coEme o 8o ,WJ. EERE-R o n N o n B gl enle
3 o N oATAL v & Ir sles|eg|e
S eoomo [5] 2505 18513372 ooV uNzziEx G Y +— 1201 grog—8e—8
ez oND ov o z a2 oT808
- comeser A\ azs01 wrarzriovriT o8l - 5 Oz 0T8T 6Te
T £0 " a0z = | eTs 5y o
QGF1036C1-08 5.2v 7.9v. y or g O 9.4v e
o 2 R - ) I ) [ ) e e oy e P P N S o 3&S & Er5e7 U oNZ0 1560012
~ 0 ryv— SN o GELIeT00 g vele §55 5| of% o o 2 .
FMU-JS2 GNG52 028 N 8S¥e| o | 8T2 8 Y |5 e} 3
§gegl 2| 4Q 7.av v s A b 4
8 ETes| © o 32 3
§ (SHEET 5) (SHEET 4) ity coy | Ramor m oy 4 ¢ 82 3
Loy —¢ m? H — 3 S | °oe o 05v 53
4 220 REE 10K g b 3 28 3]
98 35,85 asv L e v 5 1° §s —_
9 5z 1 2S£ 838 8l S l+o0 al b o <]
b3 3 §38(38 e H Sa8 & B3R 4 5 ) =
[~ R g ¥560[38 alo E3z8mm s | H EA3 53 DO I o] siene
Q ov 2+ g g38 5y o[ N3g)2 § 85 ¢ B3 K zoov 1] N -
s o 2 oz 3 [} ol 0 o 2] s1+ -
™ H Q2502 /4w 4 2 = o s
E H 2SDEOTAIRSI X %0z g x;:‘ < L
Y © 2SD60TAIRS/X — 2 Z L
0 1s] NI I
= - ~
sareTva sareTva SW10VREG J =
s e
' - No INSERT
[
Toov 208v 53
oo ¢ 3
< 3
g 3 HER st 2hner
3 S |, HEFeS = VoLTace cTi 01501
g 238 5 gl.EqE A W& Baer
@ © <2 2(e8 Q1402
s 3[3% y 25066 ARErx
s @ gs 8|35 g
8|2 08 ] m1a0s ooy o g
gL o 8¢
A e T&3 - av ol ol O 2t X
R.FILTER Qeost IR 2 |ns Ri401 |0 sledl & " g
wreateaeLAT LA o8 E-20K ¢ 220050 | 51501 R1s04 83
(T Rerov K Pl EAARS e oTas T 8 3 <
2l |2 3 ooV IS8% S E PAA 58
H o - o L o2iE H 58
5k i3 3 5S¢ Qs0s § 1ss138-T2 H
g oov 838 H 538 zsosorwmeix g
a8 ceosz 3 3 T &
o i R1403 06V oV
H 1
9 o001 R @ rsos|
N 2 2k o 27K sl al g
> R P ) 3 H o IS 25 8L 5
H o e 3 M 5 §s.83.8
o HENH 3 g ol Szm ¢s b o 2% g3y Qis0s 23,83, 53,
z|> > ] 2 ol g 9 I 2l c1311 8 §3 2SDBO1ARS/-X. 2 P2E  speotansal¥ ETT RSt R
ol |213]3]2]3 o8| F |B|E|y |8 H € EE 7 238
a3 MR REEE g I
o15(9|C|gl3a|8 212| 03(8]2]3|2|23|5 823 3 H
HREEH I EEE HEEE R R R HE 8 5|8
ontos [ 7 FEUEIAIEIEE - i
acszstosnon IERERERERERERE [EpEpERERD 1 OC0 . NoTES T oiTAGES ARE B AR W A DISITAL VoL T meTen
22223232 3z . 3 233w OR OSCILLOSCOPE WITHOUT INPUT SIGNAL
S EER R R R R A 3z weies ez CONDITION. GB STOP MODE

2.UNLESS OTHERWISE SPECIFIED A\ Parts are safety assurance parts.

n o e A UnLLIS AR 14 CHM(E
QeB1Z14J1-148 ALL CAPACITORS ARE CERAMIC CAPACITOR OR MYLAR When re Iacin those arts make
TO LVA10522-A1 (o [ = [ = AL A AGTANGE VALUES ARE IN Il FE7opF). P 9 P

[P iy g T YPTES TR T ALL INDUGTANCE VALUES ARE N K H(m=mk) sure to use the specified one.
(o [ ] ] P SHEET 2

ALL E.CAPACITORS ARE SHOWN IN THE FORM OF

CN701 CN706 CN707 CAPACITANGE ( F)/RATED VOLTAGE (V).
Unz1iEx | a7k | 22k

(SHEET 3)

2-3



B System control section

(SHEET 7)

SLC-S302 CN33
TO T,

APE

(SHEET 1)

TO LVA10522-A2

CN9O03

QAUO0346-001
TO TUNER CN1

CN104

2-4

22 2z
S33 5533 33,3 5 s s 3
Z2wws3d3 6w 33 $s3a 3 333
. < enros for PRI NEER I onroo 1
3 z 3|« QGF1205C1-09 o 2139 ¢ Q QGF1205C1-11 1
LED DRIVE 9 b MES ‘QUK008-040704 el d 4 CNT7C
HEREEPEEE S| |E 2 H ©GB2510K2.08 I
2} HEHHEEHE g |& H
© HHEHEEHEE HEH 7
z & i 3 T
8 H ?
a0 oR o 2
On " e .
Ll 090 23 83 - RieoR
H ~ —\A— 5
IE> H L
1 207 ¢ 2 s
»n > 8 5l @ 8l |2 .
~ 4 ¢ sés c7801 ol @ J Uss.av
> [ b . o
T & usevres] 1 5
23aF 351
ToaR 07301 KrArzTaNT RiRise7rverT
roruey, T
il GOVQ 93V OVQQ 9.2V,
5 r7ss aross N Z e rrssz
3 sk - o S8 b < P [ o2v 4
o Ha =5 5 23y N
B £3 - ooy 12 3330 828 895 H Ge sy ¢
25 52 PSS 5o | =78 3% + 3 41 e g 88 838
5 3. PHOTO 8 o o o ~ < 3 e tl
4 + = + e E3<% L] gy G-k rro01 - H °© ¢
& m B og3, §s® 5% 99s | % 5 lte | TEKE ° o e
W £ SE8 e fasxd famg | ofhe sev - y %
& Soone 3 SicAs ST ¢ N 3 o I e
¢ 7331 M 5 N H 8x g 8 PoUTMD
28D601ARS X H £ 8% H g o oo ]
B s2v wrasz | mram | B ) b Favon
4 fan w2]aov
RLCG o < 5 PouTSWI0
Sooic o2 P H Jrovtenery
Xg R7815 7301 . 8% @ FCD
a3 - g% s ov o R7313 3 23 g — 2 T
4 s ) slogox TN 5¢ ] 001 | crase rroecT
5 5¢ — WA 2rEEss Y < it o
g 4 pivt 5TeEsE a 7301 2 PouTPAme
. < e oy Sdbeoramsrx . zy g FOUTEANE T v
8 + & 5 1Te a7 « RS 82y 8 3 2 8y K smuTe
gl Som £ Sy 3 tLr3hy 83% g >3 £ —SMUTER
N T 538 Hereos 5T % 5Ts SSIEY 235 H H ¢z 5 L
N b it w 3 ala souNDeTL [—
o g 18] ov
= [+]ov
Coszs arne rez psz
vaxL:v:L\i
c6314 =+ 2|a7v
rrate excTe
£x- X 100 100 S+
85 22 - FAN DRIVE ces2! acaiz1aK1-1as
5t gL ueon S0
g Be R enros
H 2|+ ©3 O
3 Sx. & g la w[o[<]]e 3
gsigRmm 8<% Horeor onree stz Q01 10.0v
7 SEED g 288 S0% N f
838 % m & ]
LVA10521-A25 : y vowox 1)
HEREEE s L : vouoaTA ]
5 B [N ESES R RS RSES %S 1 voLce
= I HEEHUHE EE LY MOE T oy
9 2% 8 “s2 oresET|
2 7 pr=a X & s g [ oneser
3e 57 « X Rrra1r 099777 2 poeme 07
3 g2 P o3 oo EEHEEAEER 3 MoSTAT
2 = 28 ER LLEDG Lk fE|E —‘ s -
¢ g [84 5 - sareTvs
2 LR LoE . Bl 5l el [2 | fp— []zev
g e S >
13 & S 2. 1605 croze i T N ‘sarerva ol 7%
o SEA m sarervz
£ it SEIES [ererer]
‘ I SRR
2 RIS
3 Cl crozr 't | |2 [ 2
TooE 15 515 H
H alaly R :
i HEE HH H
y HYH HE H
ek M ricr x x rras N J &
Rice - rice 7 o8 _ Lieon 8 H 8
rica [ e < 52 i <5l €] €] €] 5o
Dis31 3 z + 53-On + BRI R
QLBo334-001 Lior A ior & 7 °§st,
Lice [ Lice @ 3 <se8 crant N
- . & wo &9E Soore HHEEEEEE
] Lice F ice slolslslslalals
P o
g88¢¢% 7] o Crdzasgs
cpoadad oe [ " 02683y
9080000 0 s 093532748
99¢58858¢8¢ 1ol 7008 SSfogat
S5 §
S D R D O e — vssav 12 e 1Y o rost 2ok P H
10 H EE] 3« cpes
Looese | Loocse ¢ g ¥ 7oz, \aak |-
Tz: ., R m 5 8 i Leors
e[ otsle Bl | | | |» {oors 4 LooRs rros 22K | 52952 | coxmeser Rross,
= [
Laly 'LCDXRESET [—| LCDXRESET |:| R7034 1K ov. R7097,
EbSS B eup
NP kakakala {coso | Rross, 22k ov R7096
5 + Bom
H {ooser [+ WY wroos | ¢
° Lroon sav o SoATEUT ey
2 o voo ]
AREER - z " - 8 Jrroes [X
HEBHB i 3 st sl x2 H
HEHEEH & o Sm; 8=% ,
+il¢ 3|5E[Z|2 § -] Qarosz1-0012 gans S5 -
8]8|888 g HER] py 518 8Ts "
Py 1 4 crua
8| ofef3fe 8 ¢ w7001 - vz
M 5 XT11
7o p—
| Reser
' aceasiokz-04
o 82K e for JOINT
{ !mm
R7047  \p22K_ 53V o roas .
REM TUCE (ga) :‘
E2CLK TUCLK (g3) y
ENWE Y . o roaz sav
E2DATA UDATAO (g2)
rubATa ROV g2k rromr ) +Jov
LVA10521-A23 3 B S 3E o & ©
i 538 5 3k okl .
¢y ° s 5 skogkod 93«
¥ 8 & g bz d Ehel ps8gsgg 88 <8,
58 ol s gy Ly ozr hoagbod¢ 28 &%y
2 cra02 || 001 ey $% 0B z888029%¢ 85Ec848%
ok T IR 58 <8 868222 FERRRR
$5001-5013:F1G.2 002 20 Craot o anas
aswoess.001z 2 ° i HEREREEEREEE 2 2 N 2
coorcl 8% REM REM \crat RN EEEHER g § g 388
EH o o= ST HRHERE HNHE RN P ala
[ O—¢ M
o [Tsbois JooR J06R <01
70,05 1. H
8 aswoess-001z| aswoess-001z <2
853 Fek RLiA SOUNDS 3 eve e ROM CORRECTION el ¢ o | el el ol o]«
¥ Al HEEEEE R HEE R
v Frev? 2 SLalaLSLNLNLNLRL [ M B
iy MR . HE R
155013 2 550052 S Frevz FrEV2 [S] T 1R[] 5| 5] & %] 8
§y S OSwosss.001z| GsWoes3-001z S2¥ A £ alala
213 Sror WD EJECT <2 Ussa US54V alslelelsl gl ] ExCEPT UX.Q3
s YArg REC P 8|2 88 5 88¢8 Seleln] el e co cPUBUFFER] RiTes
HEEEEEE olelnlelel HHHEHEES
o b 'Ss0172 TSs004 2 |, HEHEEES zle|e|e|gle
8, < aSwoseac01z| aswossstoiz <2 HHHHEE
g1 Tk Aok $3% B o k| Blz)2 %2 onLy ux-a3
[z —_ AY; (2] Q r r U
O L 2
155016 2 155003 2 g ’ £
o L aswossscoiz| aswosssooriz | =3 1 ]
8, S TAPE REC TAPE ] H :
8¢ 2 Group_F sk T 13 25 e o
&5 &5 88
o b oSiBeesoorz| aswosito | ewosss.0012 o
Sx S EREES a.swr YRre 2% SBo1d slalslslelels g5 %
L4 —— e HHEHEHE Sl -
$—0 O5 5 7 7 HEHEHE &
o Ss0012 o el
5| aewoensoorz| aswosssoorz
§| SSRGS Ry
H H anzoaeo0iz BBEEREE ars0n
EP701 EEEEIFE 280801ARS/-X
HE
9|8 e anzo10s-001
N GP1UM261XKVF| Teron .
crassis
Jes01
[E— LVA10522-A1
o oz
NOTES
o oo _Joen [ o ] o = oo J[om I o
i | e AR A SN e NG == 1.VOLTAGES ARE DC-MEASURED WITH A DIGITAL VOLT METER
vt [open] [oen [opef | opef ok | |0k | oen o = == T OR OSCILLOSCOPE WITHOUT INPUT SIGNAL.
7125 “’;!f OPER W?‘ °P;¢‘ O?j oK ok 55005 [Tape = “/ =] CONDITION- CD STOP MODE/LED:RAINBOW/NO TAPE/AHB:ON/ALPHA SOUND:OFF
iz [opeh | 1ox_[opgn | opp |ope [ o iox = — 1 =] [wx
o i N A s S S N R = S ol B 2.UNLESS OTHERWISE SPECIFIED
2 I S I O 0 T Y S = —] = [mrmsoom ALL RESISTANGE VALUES ARE IN OHM(
w2z [k [k [k [k [« OPEN [ oPen = [ [ =] [cvore ALL CAPACITORS ARE CERAMIC CAPACITOR OR MYLAR
o |k [open [k || [open [oren S o N s A s A L CAPAGITOR
R7266 R N A N [ ALL CAPACITANGE VALUES ARE IN [ F(P=pF).
17 ALL INDUGTANGE VALUES ARE 1N K H(memit)
= F IF I ALL E.CAPACITORS ARE SHOWN IN THE FORM OF
oron [r— ES— E | GAPAGITANGE ( M FYRATED VOLTAGE (V).
EETEN CESTRN N N 2.NI MEANS NO INSERT

CN103
TO LVA10521-A21
(SHEET 2)

CN804
TO LVA10521-A22
(SHEET 2)

SHEET 3



Bl MD servo control section

1 - s s sgdsa-sor o I
VREF Fire 1caco EAIVA3885P
I =T SGBREE B FREEE - BEE I I
= &5 22I2IEIE] 1218] |2]8]8|2|8|5|8|5]8 2|zla
1 ) X300 213|2|5/56|5| |5]2] |2]2(2/2|2]°|2(8|2 2|a|2
PICK UP 1 3 o £ (@ c o b0 Nanear oo FEEEEEEEE B | x|z RDTOA ] RDT3A ]
313] cwad|3|E 541 < p BT RDT1A RDT2A ]
1 R319, , 47k8— :41:4 33.8688Mz | & 7 2| ll; FEEEEEEEEEEEEEREEE NWEA NCAS i
G TR | T ONSR P A A 2 2 e Y W N NRASA
1 sl = Hogss BEGE E rPOSP ooen
! I ! SL L s pemo)iie) CoErEEg983888% > Teats E— e I
I I 52 52 1™ v Bh2pifiddiiiid - I
POI.C .
| L w o NRFSTE| ADIP. APCD R8¢ ]
1 im0 P39 TEMP RFSWPG K C363 RAD10A RADe/
aw o veo TP317 RESWHL 51K TP36%IONTg 1 0.1 RADOA RAD7) I
1 | = 1o [ AF1 vee g cLv2 1K ! RADIA RADG ]
) : E s e G TPods S Ca6: ADIP, G RAD2A RADS
: e vREF 1 | 1eadi thost TREGE" P Ao SPDM 0.1 |R3ss, 12k Py RAD3A RAD4) I
— o |—] PO-GND TP31 F2 FL B AF2RFL A 4 TP94T TP SPDP R385, 220 5
I E S o el s | TP o ool oo oo o (T !
¥ | e IR e IR o FODP K Raga WAV [lcasy I
I |ijnu e e ] . FF1 { TROW RFOSH o odt P41t I
1 s B [ | | FF TRDP 1C350 s
1 e o B | w [ AR MNBB621BSH AR \ / I
) | w BB _oon 1KR358] BB, ]
= | s TVDM cC)
&
1 S o DI TVDP DD ]
H-{Foc TPoa7 TP938 i C TP412
ey -~ WO P35 Fri o) Voo I
P31 D@ @ c TR315 10776 I
1 Gres ¢ P31 LGy cea G| e i o
S TS Trat ) v v O BO VREF o Voo I
1 o] TRK+ £ P81 TP952 TP954 i nRec 60 MONg; 3
o Fos: & ce aTToM f 388 3 - O I
| T B gt DATAl R391 1K 47k BOTM, Ra97 £ bsih Thst5 Thsrs ]
1 & R330 TPOS1 P9 XBCKI_, » 339 PEAK 108
& FFOsP (? ?g;sé; LRCKI ® fr— 1
13 I rost w5 ] CDTNOK533—— 0 -
<] B ERE:] TP366 CDCOPK531=—0
18 ke o =0 :| To CN803
5] CDEMPK532=— 0
x g
: 3 ) DATAI K527—0 Z (SHEET 2)
cs 3 < —
1 ﬁm §§ ( 27 2 XBCKI 0 z
Q S f 5 2 K529 z
| ’_@ TS TP407 - 8 8
TP320 Dvoo B8|8|5] L TPsg2 S:L“ ]
1 Bso 22122 By B %
5 ¢ g |
TP96E o ; £ T
N g o) 2 3 sl
- 3
I R3121 8 - Hlc 3zl |, 12123 @ ‘1 \ I
> | 3|5 slals
| [t PAREER I LI \ 1
o N XC6206P192M-X A
I : f I
Iz
1 N I
1 TPa01 / Rag9 I
1 § D5V NGRO354-001X I
] - - VYV REZT ] NQRQ354-001 I
1 3 N / TPSTE 498
MM1563GF-X & NEE oz ) \I\
1 TPAOK Ic400 38 52| 3
o o L Z1g|8 ]
| == zZ Tra0s
| EE %, I
g, N 1ca2 R570 R526,_ 1K EEEEEE usisie) I
1 Sz xcA368Basamx A Rs27, . 1k 504 L L e Lo R34
R528,” " “1k Fogeg < I
I @& =22z I
LNPL E TPs32 9
| { 100116 gy C410 =l 6 i 1
1 Ly TPat4 TP@‘ %
| T e Ilesoeccdddd |43 O e b | H [
: TP541 TP543 Lo C464 G465 G466 CA6/A73 I
1 3 > % YorozzBgds TP540_TP542 o 0T W ,\g\? I
55 EFEES R P %
835 ERS IR
! g 20775 P (ot
1 ol < [ e DRVO! G @ \ caslT ol Ttues B
I 3l 3 LDRVAN SELAD AKGi0 01 [orte | 000 0.001 Ede—O |
5 POP, - TP551
3 FODP. R434 1k
0k 1 FE room R433 1k SPD! MODESE_RS5{g 1k AV lresse
Bl I FCS Rt Su- SET1 RSW!K ssowj TP§§© [Irpsss
EEe DINT Re{7 K 3 BIN o]
0 Ra10 B SET3 _ Rse Tk i oo o
D, MECHA BND EEDYWGHIE] o Py STSRDY RSz ik asy Caos CasaNQRO3H4-00 v
|—Tps0 2@ stsrov N P prey
TPan{? oy NI NQR03p4-001XK523 EET
33, ., R412 - LDRVON| w ROUT R496 T 496 s oot oY
MECHA GND LoAvon - —K 18
N R432 | 1) TVD TP504 1C500 S 470 = TP557 05 500 [
22 L 7Rop 1 TVD OC MN101C49KKL1 2 LouT R4S 8 T |
3 sy C4180.1 431 TPS0%, <l —xags k)
) by E sour 470 Toos) @TPS% wo ) To CN107
EJECT 0.0
o \TPS08 DINO DIND 50 jz (SHEET 2)
NI ey o]
1 (A sviB MPROTRS37, , , 1K P56(0) NonD L for SYSTEM
MEND_p |
10063 [C423 Al MREF_Rs38,’ 1K P56(0) ) TESET vor ]
047]C420 570 Commag, | 21
NI [c421 I SSTOP Rs39, , 1K STATUS, 3 o
NI Jc422) 42210 O? o COMCLKM%
STSRDY y, [
e 818 SET3 Ly |
e 38 T =
QSW0845-001 TCaTT ERES=E- R SET1,
—_— BHE578FVM-X 8::x2z2z2% Lo
TPa72 R:EKRB8B8EE JMODESEy =1
TP973 4 DINY ST
m- = EEEEENEEE ) &
QGF1006F2-09 || é CLYEE b 8 I
ﬁ? SPINOLE ’_®7 S+ -4EES £ ST 10 g BB BB R & I
- = /
Il |FrriopH-osee e z / £ |5lg[8 2 = I
;EED’_(:H 8 L 2 JE—
I QAR0144-001 z EEEIHESR g= I
MPROT e 1C450 BD7910FV-X Rast g § § il . T ]
s g ' ) : Py
SSTOP & so 56k 0 :;-
3 o TPas0 TPa52
Rass - « AegouT . 2 RS05 47k I NoTES
o 3 £3Y 4
VS K o + o RETS0L60-X S B3 = R5QY 7k
- FETE0L0- t = 508 71 || 1 VOLTAGES ARE DC-MEASURED WITH A DIGITAL VOLT METER WITHOUT INPUT SIGNAL. 4.DIGITAL TRANSISTOR o
- . 4 MR LN CONDITION ——— STOP . Recordable DISC IN
casd 101 P pasd B 3
9 ST‘*E (? TP453 B X500 TP574) TP571 | =
vee o NAX0560-001X P57 | 2 uness oTeeRNISE sPECIFIcD. m
20. oMz
e TPs7A 1 ALL RESISTORS ARE 1/10W 5% METAL GLAZE RESISTOR. OR 0.5 METAL GLAZE RESISTOR =L
o ALL CAPACITOAS ARE SOV.25V or 16V CERAMIC CAPACITOR. = @
TEMP. || ALL RESISTANCE VALUES AFE IN OHMIQ). rm
‘ R404, 1 L ) 1 ALL CAPACITANCE VALUES ARE IN 4 F(p=pF) o
Ra03” ' 1 ALL E.CAPACITORS AFE SHOWN IN THE FORM OF CAPACITANCE|.F) /RATED VOLTAGE (VI. P Tkrciossx -
| ALL INDUCTANCE VALUES ARE IN yH(m=mH). \@ @
o} I 2 nx sraos rom vor swseares panrs
\ A
e e o e e o e o o o o o e e e o e e e e e T e e L QB2 ATRL A,
CN500

SHEET 4

2-5



Bl CD servo control section

| i
| zlelels
8|5|8|¢
| : |
| H slelz] =
oot g|8(8 &
| {4
S
ooz g oners
603 - = 1| GND
2| 1o
| . 002225 8- 3| Axoo FOR FLASH MICON
€ T - 4| voD
PICKUP A’ SSY | T 8 5|
OPTIMA—726B1 oot == Cot2 6| /RESET|
—_—— = CTT 2L
H3100063 | | L
i GCTL OPEN.
| | 50 Roso |
A Ax00 , 1%
R|R|R|R|R|R|R|R|Z|R|R|R|R|R _ ’ TX00 4.4v ic2s1 v Ik R2s1 MCLK
- SISIS[E S5 55 S 5555 S s oo o veLk
ol o e iSap - CLTB AT
1% = v aa G ress o
R o SV "R
| 8 /P,
Sz oTLY /ot GE AN BIE,
1T v . o G2 STAT
} Hi s 2|z # D= iy €7 Reser
QGROs2TF2-15W <1 /ANL4 P75/8UZ
" il sy o Tozzes [ oS Lo mia/ance s B REF
[1] ;x [15] = }&\ S TP HEE B o - I Rev
2 j— HEEREEEE REST o o Fwo
51 v [y Bl =T ] e /REST o 3 o A
| ] o | o ot Py sedBasd
= 1v 1 ] s ! orr Stolprroes B ZESET |
HER Fzzéckagx80a¢gEE
B 17V HEH
5 HIRH —
& v e STaT21al> 2l a2 2l 2[21aT2 2 2] =
7 3 oo Q,“,.e.;(mmed-..mg
T o 1 o |e B M e z
[ 8 HRH H
[ Mo = o Hw 5 . 8 |8 3 800 |
El 7 R631
oo o | ee T -
LD [~ o . 22 . ARF A F2et Do
F~ B el . 3| = 2 AFENY. o MAT11X
= L] o osar E1IR H con
| Ft sov |Hn = g’ B R coen = o < MASK ey o
T+ [ sov A AEES I . T H . e xest §e3 0 ST 8 |
— = = g 2 B © ! (QAX0664-001Z < N
T sov [ 5 il g H Hklk . 3
25] LLl P e
o = onest |
H aetosarr7
o R201 - - =
| | HE o L @ w00 s [0
f— — 00— _— | HE §st ] ovl2|mxoo
- = - ress " 1oy PN
H s v e
ass2 3 %
| unz2tx J e () UM py |
TRACKING COIL FOCUSING COIL ‘(E
T . To CN801
; t o0@ T TR
| ) . ; (SHEET 2)
HEMEEE a[s[s 5
IR HE < -
HEEEEE HE £ oo o 1] a eno
= HEE omne F -
Sl |gb |s 5|88 . 15835 PO e
) B3k | & |& s< o o Ly
Lot [5 o BERBEE < B 050 E s B
TO LOADER PWB | wworos- [ B J_ M sov
— N 3 1 —s | 3 5 5 5 % s.ov 1
(LVA10530-01A:CN1) @ o e e A 5 Eg Dg 583 ooz 7]+av
ov nasg, K _CLose EOER £ ::z g H
(SHEET 6) e oz | cots @ @ ol § $EnEaE a7 g
o 8| & 855585 8 |8
w |
Fwo 8 =ises Bay0305
. T8 )
fev fao 195 Lo 156 FO0 - o) reste é
EXY ™o
S eon
FEED MOTOR | 2o 56
e m o _ oot @123 voewon o T T
1Y
R | ) o Fo 3 o rm— | %éz e l:\‘am ‘Lfﬁﬁi conoex 43 1 comoex
\REF oo T . T g como ov
[ =z HREREEE FBAL LBV S oAl DIGITAL SERVO [eerr iop s P e
[ NSNS . > o Lov owe By p 5| cocory
| il slelelel = <o Bl +lB~ = e b Lo e To CN802
SPINDLE woTOR 2 e c
|8 % e PROCESSER 4| coeve ( )
- T
I B! e % [0 S — o151 smoata SHEET 2
18 3 3 SV
i 2 - o Tom Lo e om0
! ol e oFT ,
e Q) | 1 [T i, oNes2 I
| LA E e w v it acFioser o
gl 8 av.
R2s6 1K jpest }% 3|3 = o 800 |
é =l o Loow
152 s o g o o o
aswiowron 2N Betg by yus88-958%
5o | Jd¥ePsrgddB8S8z4888
12 eBz55882233b8838
1n g
¥
235!
| }82\ 2[5 & 7|z 7|7|3]3]3| 5 = 7| 5| 3
[l FET] I e ) 1 1 ) B ) g
By
| o con || g
arop g
g0 £ ret
:
Thegrix PAASINH o
(D] e T ; |
D2 °
" Orpsor e 2 g4, —
n g i |, LVA1048 10A
o0ts s M Ly 5S¢ _—— — —_— e D
o - Sl 238 o2
sls ERS g 52 | 3 H] o o | NOTES
| ros N l & g g 1.VOLTAGES ARE DC-MEASURED WITH A DIGITAL VOLT METER
K % caat 2 | o= >—3 8 | CONDITIDN: MODE DISC STOP [x1 SPEED MADE]
o
oare T el L ozsl 2. UNLESS OTHERWISE SPECIFIED.
§§ 8 o ALL RESISTOR ARE 1/16W + 5% METAL GLAZE RESISTOR
° g g g g 2| | ALL RESISTANCE VALUES ARE IN OHM[ 0 ).
- ALL CAPACITANCE VALUES ARE IN & F(P=pF).
i, ALL INDUCTANCE VALUES ARE IN &z H
- | ALL E.CAPACITORS ARE SHONN IN THE FORM OF CAPACITANCE( & F)/RATED VOLTAGE (V1.
| 3.DIGI Tr
211X z2tt-x UNez215-x
| - SHEET 5

(dris)

10K

@

=)




B LED & CD loading section

NS'IlRA?51 5AS

LED PWB

—
NS'IJR/iI515AS @ x

UDZg?sax UB%SISB%
* ®
LN
x HELAY PWB
1] 3] 4
&
QGF1 (%géZ-Oﬂ'zl QGEQ\IC?OGH -07W QGF1 (%%3:2-07Wl
. | LED1-G ] 7] Lep1_6
® o [LERL-B o] 6| LED1_B
— LED1_R — -
El Yolo} 3] 15| bizi'n To CN705
4 4 4
o LED2-6 = 1 Leoes (SHEET 3)
o] LED2-B = 5| LED2-B
] LED2-R El 1| LeD2-R
L7 | _[_ "
UDZ£75.SB-X UB%SISB-X I |
1 FLVA20055-01A2 |
- ! |
y
1] 3] 4

BN

LVA20055-01A1 |

LOADER PWB

—_—
St
QSW1074-001
—_—

LOADING MOTOR
+ -

=1 -

O | DN (W[ —

L. MOTOR+

L. MOTOR~

GND FROM SERVO PWB
OPEN (LVA104B86-210A: CNG02)
CLOSE (SHEET 5)

QGF1 01%[%-05

VA10530-01A ]

SHEET 6

2-7



B Cassette mechanism section

HEEL PULSE

] [SLC-S303-2| — _— —_~— 1

R

ISLC*S3O3*1

Ic1
s Iz ls Iz VKZ3174-008
[ | | lg lg lg lg s Dlw o
& & & 3 Iy
g\8 \8\3 &
- 8 W8 8 W 8 D
@ x REEEREDE x| &
o ~ 8
58 P £12525|852 s 5|2
N o < S w 9
s 2% es¥ = 238 S5=s l FW100 - -
e @ 5] 8 5} MSI-5U2LWA ~\ |
) 5[ 371
¥ R108  RECL =) 3} EN |
o . - B [\
27K !
R106 PRL M |
| . 11K R110 | | SotioTos,
5 o 5
L 10k @
2 TelB5 T | 10K (B8]
T BB CNa2
& |5| 2 QGF1205F1-09
RATTIM-T s | VR37 -
| lin | QUP0077-1032 — — DEEEEXN — —
©
Q343 8o & EEEEEE 3 | ob
2503576-VC-T O | _ Bz66  LotH
dleglesieziesiesied] _— f9220df %0
o 2553 3. tezzeraes?
C340 Lge2c z2 e N DE DG )
25C3576-VC-T 47/50V IL323,8% CN®2 SRS S o
47K B oV, pREcEoE R QGF1205F1-09 1 3 N | 3| 3| 8| 3| 3]
o Oeanea ) o E
3 E
s Cat oy S2aIniL) 2 E
25C3576-JVC-T 1sov By gy sre S |
oy SdBINIL) 47 R304 «
SORETURN 1C32 ) &
Q346 LTSN HA12238F oo
< 28C3576-JVC-T OVES 14
8 47K INIR) i3
it 10K -
T c 3
=3 e @
AP MECHA HEAD 8o WA CS."Z DAz T ac onfraB-ov = |
QAH0101-001 5 L8 Le o 220 N pe- G ZEZ_E T £ o O 2ol 43 > i
zZ80 PR 47/50V NFiR) & BE S EZ 2 SS= Qo = 3Iz 8
5o < Sos LRs525 & 3 Q8T S S 3
e 23 - - 8 88T 38T = °F 3
R oV ST = R207 11.C210 oo e o o o = 8
S T AL 1H CEEEEED
e o 0.0068 S SN
3 3|
S prammEll e C204 El
2
= o R107 ci10 L & _ ,
& Lt ov 9.1K ! NI 220p 0.01 58 q o & 2
2 - 0.0068 28 Rz al= €307 2
' l ca11 =2 O% Qls | |
- _ ° —I— 0.001
C AAD_ | & =R 150P <[5 e 3 3
o < =
REC BIAS CURRENT = 10k R208 RECR 4 2 |
NOAM  440UA k3 1
2
ERASE CURRENT | it R206 27K PR R340
<
NOAM. - BOmA 8 1K 1/8W 680 |
& gl 8 SOLENOID DRIVE MOTOR DRIVE
o2, H e c207
e © b33 = caza
| 22N 270P Q375 2SB562/G/ Q371 KTA1271/0Y/-T i
o r H
g 9.3V ov 5.3v(9v) oviav) hoor16
S B.7V
| 3 (al3v) |
D375 o
MTZJ5.18-T 5I¥E
Q76 3 R338
KTC3199/GL/-T 2ok
7
(ov)
QVP0008-203Z Q372 ovia.av) %
VR31 KRC107M-T A
REC/PLAY RSe s -
| Ri21 c121 FAEQUENCY RESPONSE AD g2 @2sh ng§
<
15K 330P @ 08 A
R221 C221 20K(B) [ BIAs o5 ] VQP0033-100Z s
——w SEATAL TO PARALLEL
| 15K 330P 10 10 (1/4N) FR POAT EXTENSION
1301 IC33  CD4094BC |
Y Qo2
| QQR1118-001 e ot
5.2y
OTmoo Ra27 R4 |
B1AS FRG 470K 89
CHECK PQINT o |-
3=
2 S
5 E] - |
= [
2 o <
P 5 Ra47
4 +—\\\—9——
o = 10K
3| 3
Q347 e
KRC107M-T S
- 8
g 8 ki
s s A 2
= [¢]
B © 47 (1/4N1UNF
o o
o o
& oy
l0.8v) R3%s |
| ov Q305 22K
25K2001 |
| BTAS OSC/CONT |
& @ B|% 3|m
CN34 | >[5 N> 5> (5] 2> [N B P RS PN I R
QGF1201F3-10 21010l @l0jofolojmlo QGF1205F1-09 ClOlW| O]l ¥|0]o
R R N ————————————————————————————_—_——_— — e [a[n[+[w]6]~] o]0 — e e e e e — e — e e —— e e e <[]0 0] 0] 0] 0] e — ——
- <« &> o
Bowgiefeoy EEgxoafic
=== m@nno6yas
A\ Parts are safety assurance parts.
5 Wh lacing th rt k To CN703
ol g en replacing those parts make
NOTES 2. UNLESS OTHERWISE SPECIFIED . AESISTORS AFE 1/10W +5/ METAL GLAZE RESISTOR. &z i (SHEET 3)
E— ALL RESISTANGE VALUES ARE IN OHM(n]. g o sure to use the specified one.
g -
ALL CAPACITORS ARE CERAMIC CAPACITOR OR MYLAR CAPACITOR. 3l 28
1. VOLTAGES ARE OC—MEASURED WITH A DIGITAL VOLT METER -
ALL CAPACITANCE VALUES ARE IN #F (P=pF). SHEET 7
OR OSCILLOSCOPE WITHOUT INPUT SIGNAL. ALL INDUCTANGCE VALUES ARE IN #HIm=mH). To CN105
CONDITION : MECHA STOR MODE ALL E.GAPACITORS ARE SHOWN IN THE FORMOF CAPACITANCE |4 )/RATED VOLTAGE (V). (SHEET 2)

= POLYPROPYLENE CAPACITOR

2-8



Printed circuit boards

B Main board

(Headphone board)

o
ﬁk '/ _
o
||

Al
P ti ki

/

(Key board)

(Main board)

2-9

(Joint board)

(FL board)




B Micon board

(Trans board)

(Micon board)

_'A"Zgzszszsas'?sgg

.'4’3'

|2

RERRRRRRBER = ,

I lr%%%:oi}{(f SEN 2
BN &

e 0%

=i QJD%_/’/ HEEEE
NI
I

5
e

4
&)

(Regulator board)

2-10



B MD servo board

Forward side

(MD servo control board)

55555

i, At
i

P53
TPESS
P53
01
BR
1 TPg72 TPG73 TPG75 TPS76 TPST7 TP974

Reverse side
(MD servo control board)

M Traverse mechanism board

Forward side

HLQ_‘I- )

(Traverse mechanism board)

B MD cam switch board

(MD cam switch board)

Reverse side

(Traverse mechanism board)



B CD servo board

Forward side

(CD servo board)

Reverse side
(CD servo board)

B LED board

(LED board)

OLMARR

Bl CD switch board

[ ]
LVA20055-A2OELMARE




B Cassette mechanism board

(Switch board)

0

] [ |

33
> S
m
1982} .
- L
0w 5

> |
gé,‘l’O PP300
o<

VVO Raio

2 i

Rat3 | 9 |
~

2-13



Victor Company of Japan, Limited
AV & MULTIMEDIA COMPANY AUDIO/VIDEO SYSTEMS CATEGORY 10-1,1chome,Ohwatari-machi,Maebashi-city,371-8543,Japan

Printed in Japan
(No.MB331SCH) VPT



PARTS LIST

[UX-Q1S ]
[ UX-Q1W ]

* All printed circuit boards and its assemblies are not available as service parts.

Area suffix
uB Hong Kong
- Contents -
Exploded view of general assembly and parts list (Block No.M1) --------veemuenene 3-2
Speaker assembly and parts list (Block NO.M2) ---------urmurmmmmmmmmnmieeee 3-6
CD mechanism assembly and parts list (Block NO.MB) ----------ssnsmmemmmmmmnannan 3-7
CD loading base assembly and parts list (Block NO.MD) ------------srmummrmunannns 3-9
MD mechanism assembly and parts list (Block NO.ME) ------------cnrmmmmmrananaanas 3-11
Cassette mechanism assembly and parts list (Block NO.MP) ---------cmumerarananen. 3-13
Electrical parts list (Block NO.01~09) ---------srmsmmmmmmmme e 3-15
Packing materials and accessories parts list (Block NO.M3)-------=----seemurarananen 3-24

No.MB331



Exploded view of general assembly and parts list

.~ Block No. [M [m]

3-2



3-3



General Assembly

Block No. [M][1][M][M]

A Symbol No. Part No. Part Name Description Local
1 LV10934-001A FRONT PANEL Q18
1 LV10934-002A FRONT PANEL Q1w
2 LV40301-002A FELT SPACER (x2)

3 LV21750-009A FRONT LENS

4 LV21751-007A CD LENS

5 LV35062-001A MD ORNAMENT

6 GV30489-003A MD LID Q18
6 GV30489-004A MD LID Q1w
7 LV43199-001A SPRING

8 QYSDSF2608ZA TAP SCREW M2.6 x 8mm(x2)
9 GV30527-001A VOLUME ORNAMENT

10 LV21752-001A MAIN BUTTON

1 QYSDSF2608ZA TAP SCREW M2.6 x 8mm(x8)
12 LV35059-001A LENS COVER

13 LV35060-001A LCD HOLDER

14 LV35061-001A LIGHT GUIDE

15 LV43905-001A LCD SHEET

16 QYSDSF2608ZA TAP SCREW M2.6 x 8mm(x3)
17 LV30225-0W8A SPACER (x2)

18 LV44015-001A SHIELD(B)

19 VYSH101-034 SPACER (x2)

20 LV10936-001A BOTTOM CHASSIS

21 LV40301-002A FELT SPACER (x2)

22 LV21582-003A MECHA HOLDER

23 QYSSST3006ZA TAP SCREW M3 x 6mm

A 24 QQT0451-003 POWER TRANSF T 9001

AN 25 QMF51W2-1R0-J8 FUSE F 9001 1A AC250V

A 26 QMF51W2-3R15-J8 FUSE F 9003 3.15A AC250V

27 LV34403-001A TRANS SHIELD
28 LV30225-0P5A SPACER (x2)
29 QYSBST4006ZA TAP SCREW M4 x 6mm(x3)

A 30 QZW0033-001 STRAIN RELIEF

A 31 QMPN160-200-JD POWER CORD(EK) 2m BLACK

32 LV35064-001A HEAT SINK BKT

33 QYSDST3006E TAP SCREW M3 x 6mm(x2)
34 VYSH101-009 SPACER

35 QYSBSF3010ZA TAP SCREW M3 x 10mm
36 LV42035-002A LASER CAUTION

37 LV21754-001A CD MECHA BKT

38 LV30225-0Q7A SPACER

39 LV30225-0Q2A SPACER

40 LV30225-0U5A SPACER

41 QYSDST3006E TAP SCREW M3 x 6mm(x3)
42 QYSBSG3008ZA TAP SCREW M3 x 8mm(x2)
43 LV30225-011A SPACER

44 QYSBSGY3008EA TAP SCREW M3 x 8mm

45 QYSBSG3008ZA TAP SCREW M3 x 8mm

46 LV44014-001A SHIELD(A)

47 VYSH101-009 SPACER (x2)

48 LV44024-001A SHIELD(C)

49 VYSH101-009 SPACER (x2)

50 QYSDST3006ZA TAP SCREW M3 x 6mm(x2)
51 LV30225-011A SPACER

52 LV30225-0M5A SPACER

53 VYSH101-009 SPACER

54 LV30225-011A SPACER

55 LV21755-003A MD HOLDER

56 QYSDST3006ZA TAP SCREW M3 x 6mm(x4)
57 QYSBSG3008ZA TAP SCREW M3 x 8mm(x2)
58 LV44075-001A SHIELD(D)

59 QYSDST3006ZA TAP SCREW M3 x 6mm

60 LV30225-011A SPACER

61 LV35065-001A PWB HOLDER

62 QYSBSG3008ZA TAP SCREW M3 x 8mm

63 LV34406-001A IC BRACKET(PWR)

64 QYSBSG3008ZA TAP SCREW M3 x 8mm

65 QYSBSG3008ZA TAP SCREW M3 x 8mm

66 LV30225-0M5A SPACER

67 LV34405-001A IC BRACKET(RG)

68 QYSBSG3010ZA TAP SCREW M3 x 10mm(x3)
69 LV35066-001A HEAT SINK

70 QYSBSG3014E TAP SCREW M3 x 14mm(x2)
71 QYSBSG3014E TAP SCREW M3 x 14mm
72 QYSBSG3014E TAP SCREW M3 x 14mm(x2)



A Symbol No. Part No. Part Name Description Local
73 LV30225-0V8A SPACER (x2)
74 Lv21844-001A TOP COVER ASSY Q1S
74 LV21844-002A TOP COVER ASSY Q1w
75 VKL7850-003 EJECT SAFETY
76 LV30225-0G9A SPACER
77 VKW5258-003 TORSION SPRING
78 Lv43116-001A MECHA BRACKET
79 QYSBSG3008ZA TAP SCREW M3 x 8mm
80 VYSH101-009 SPACER (x2)
81 LV34035-001A SHIELD
82 LV30225-0J1A SPACER
83 LV30225-0M5A SPACER
84 QYSBSF3010ZA TAP SCREW M3 x 10mm(x4)
85 E65923-003 TAPPING SCREW
86 GV40034-001A DAMPER ASSY.
87 GV40220-001A LACH
88 LV43579-001A DOOR SPRING
89 QAU0346-001 TUNER TU 1
90 LV35102-001A TUNER BKT
91 QYSBSG3008ZA TAP SCREW M3 x 8mm(x2)
92 QYSBSF3010ZA TAP SCREW M3 x 10mm
93 QAR0312-001 FAN MOTOR
94 QYSBSF3025ZA TAP SCREW M3 x 25mm
95 LV30226-039A SPACER
96 Lv44068-001A BARRIER(A)
97 VYSH101-009 SPACER
98 QYSBSG3008ZA TAP SCREW M3 x 8mm
99 LV44069-001A BARRIER(B)
100 VYSH101-009 SPACER
101 Lv44070-001A BARRIER(C)
102 QYSBSG3010ZA TAP SCREW M3 x 10mm(x2)
103 QYSBSG3008ZA TAP SCREW M3 x 8mm
104 LV30225-011A SPACER (x2)
105 LV10938-001A SIDE PANEL(L) Q18
105 LV10938-002A SIDE PANEL(L) Q1w
106 LV10939-001A SIDE PANEL(R) Q1S
106 LV10939-002A SIDE PANEL(R) Q1w
107 QYSSST3008ZA TAP SCREW M3 x 8mm(x2)
108 LV10937-001A REAR COVER
109 Lv43861-002A EARTH PLATE(CD)
110 QYSBSG3010E TAP SCREW M3 x 10mm(x6)
m QYSSST3008ZA TAP SCREW M3 x 8mm(x3)
112 GV40526-001A CAUTION LABEL
113 LV35063-004A TRAY FITTING
114 GV30443-001A VOLUME KNOB
115 LV35371-001A RATING LABEL Q18
115 LV35371-002A RATING LABEL Q1w
116 QUQ110-1709AJ FFC WIRE 17pin 9cm
17 QUQ110-0809AJ FFC WIRE 8pin 9cm
118 QUQ410-0710DJ FFC WIRE 7pin 10cm
19 QUQH10-0814AJ FFC WIRE 8pin 14cm
120 QUQH10-2117AJ FFC WIRE 21pin 17cm
121 QUQH10-0914AC FFC WIRE 9pin 14cm
122 QUQ410-1518CJ FFC WIRE 15pin 18cm
123 QUQ412-0920CJ FFC WIRE 9pin 20cm
124 QUQ412-1020DJ FFC WIRE 10pin 20cm
125 QUQ412-1124CJ FFC WIRE 11pin 24cm



Speaker assembly and parts list

%a
——F =
" %

Block No. M]

SO
A
Speaker
Block No. [M][2][M][M]
A Symbol No. Part No. Part Name Description Local
1 5600008011 HOLDER (x8)
2 9910008141 NET ASSY (x2) Q18
2 9910008101 NET ASSY (x2) Q1w
3 9000007941 FOOT (x8)
4 LV43473-002A JVC MARK (x2)

3-6



CD mechanism assembly and parts list

Block No.

FTU-JS2-1M

3.5mm=0.1mm

ww 0 F wuwgp

12.0mm = 0.1mm

< Back side >

* JVG-31N
® JVS-1003
A FL-7750E

Grease

The parts without symbol number are not service.

3-7



CD mechanism

Block No. [M][B][M][M]

A Symbol No. Part No. Part Name Description Local
1 OPTIMA-725B2 CD PICK UP
2 LV34564-001A RACK ARM
3 QYSPSPT1720M SCREW M1.7 x 2mm(x2)
4 LV31744-001A P.S.SPRING
5 QYSPSGT1425M TAP SCREW M1.4 x 2.5mm
6 LV10855-001A TM CHASSIS
7 LV43468-001A T.T ASSY
8 QAR0302-001 SPINDLE MOTOR
9 VKZ4743-001 SPECIAL SCREW (x2)
10 LV40157-001A SCREW SHAFT
1 LV43651-001A SS GEAR
12 LV43650-001A F MOTOR GEAR
13 QARO0303-001 FEED MOTOR
14 QYSPSPT2030M SCREW M2 x 3mm
15 LV34565-002A F MIDDLE GEAR
16 LV34563-001A SHAFT HOLDER
17 QYSPSFT1740Z TAP SCREW M1.7 x 4mm
18 QYSBSF2006Z TAP SCREW M2 x 6mm(x2)
19 LV30225-073A SPACER
20 QUQ105-1506BB FFC WIRE 15pin 6cm



CD loading base assembly and parts list

Block No. [M] [D] [M]

FMU-JS2-1M

* JVG-31N
® FL-7750E

Grease

Backside

Switch board

The parts without symbol number are not service.

3-9



CD loading base

Block No. [M][D]IM][M]

A Symbol No. Part No. Part Name Description Local
1 LV10932-002A LOADING BASE
3 LV35052-001A PULLEY GEAR
4 LV35053-001A MIDDLE GEAR
5 LV35054-001A IDLE GEAR
6 LV43859-001A ROLLER
7 LV35055-003A SLIDE CAM ASSY
8 LV21749-001A ELEVATOR
9 LV10933-002A TRAY
10 NSTM515AS LED
1 NSTM515AS LED
12 LV35050-001A SHAFT GUIDE
13 LV43847-001A SHAFT
14 QYSSSP2010ZA SCREW M2 x 10mm
15 QYNNS2000ZA NUT M2
16 QYSDSF20082 TAP SCREW M2 x 8mm(x2)
17 QAR0197-001 MOTOR
18 LV43844-001A MOTOR PULLEY
19 QYSPSPU1730Z SCREW M1.7 x 3mm(x2)
20 QYSDSF2008Z TAP SCREW M2 x 8mm
21 LV43974-001A BELT
22 LV21747-001A CLAMPER BASE
23 LV34586-001A CD CLAMPER
24 LV42930-003A P.C.MAGNET
25 LV43848-001A YOKE
26 LV43958-001A SPECIAL SCREW
27 LV43958-001A SPECIAL SCREW
28 LV30225-011A SPACER
29 QYSDSF2008Z TAP SCREW M2 x 8mm(x2)
30 e CD TRAMECHA UNI
31 QUQ710-0712AE FFC WIRE 7pin 12cm
32 LV43805-001A FFC
33 LE40900-003A INSULATOR (x2)
34 LE40900-004A INSULATOR (x2)
35 LE40901-001A SPECIAL SCREW (x4)
36 VYSH101-034 SPACER



(62 i

61.5%0.1mm

Block No. M] [E] [M] [M]

FMU-S6M-11M

10.020.2mm_|

Grease

JVG-31N
CFD-4007ZY2

*
A

MD mechanism assembly and parts list

board

||||||||||||||

*+0.2mm

7.0%0.

||||||||||||||

The parts without symbol number are not service.

3-11



MD mechanism

Block No. [M][E][M]IM]

A Symbol No. Part No. Part Name Description Local
1 LV20548-029A LOADING ASSY
2 LV31472-004A CAM GEAR
3 QYWDL1230252 SLIT WASHER 3mm/1.2mm x 0.25mm
4 LV41477-002A MINI TAP SCREW (x2)
5 LV32168-002A WIRE HOLDER
6 LV31710-002A L.MOTOR ASSY
7 QAR0251-002 MOTOR
8 WJMO0117-003A E-SI C WIRE C-F
9 LV41341-001A MOTOR PULLEY
10 QYSPSPT2020M MINI SCREW M2 x 2mm(x2)
1 LV41342-001A BELT
12 LV41477-002A MINI TAP SCREW
13 LV30225-068A SPACER
14 LV30225-085A SPACER
15 LV20543-003A SLIDE BASER
16 LV31483-001A SLIDE BASE L
17 LV41477-002A MINI TAP SCREW (x2)
18 LV10286-004A LOAD.MECHA BASE
19 LVB40003-001A FPC
20 LV41477-002A MINI TAP SCREW (x3)
21 LV31709-004A TM.CHASSIS ASSY
22 LV20545-003A SP.MOTOR BASE
23 LE40515-001A COLLAR
24 LV42825-001A S.R.SPRING
25 QYSPSPU1720N SCREW M1.7 x 2mm(x2)
26 QAR0179-001 SP.MOTOR
27 LV41477-002A MINI TAP SCREW (x2)
28 LE30470-202A T.TABLE ASSY
29 LV41343-001A SHAFT HOLDER R
30 LV41344-003A SHAFT HOLDER F
31 VKH5803-001 GUIDE SHAFT
32 LV41477-002A MINI TAP SCREW (x2)
33 LV31484-001A T.SPRING HOLDER
34 LV41350-001A COMP.SPRING
35 LV41477-002A MINI TAP SCREW
36 LV31485-001A FEED MOTOR BKT
37 QYSPSPT2025N MINI SCREW M2 x 2.5mm(x2)
38 QAR0144-003 MOTOR
39 LV41345-001A FEED WORM
40 LV41477-002A MINI TAP SCREW (x2)
41 LV42702-001A SCREW SHAFT
42 LV41347-001A S.SHAFT GEAR
43 LV33594-001A PICK UP GUIDE
44 LV41477-002A MINI TAP SCREW (x2)
A 45 QAL0424-003 MD PICK UP
46 QAL0430-001 FPC CABLE
47 LV41348-001A RACK SPRING
48 QYSPSGT1425N TAP SCREW M1.4 x 2.5mm(x2)
49 WJT0042-001A E-CARD WIRE
50 LV41477-002A MINI TAP SCREW
51 LV40761-003A INSULATOR (x4)
52 QAH0089-003 MD HEAD
53 QYSPSGU1735M TAP SCREW M1.7 x 3.5mm
54 LV31487-004A HEAD LIFTER
55 LV41349-001A H.LIFTER SPRING
56 LV10284-002A SINGLE FRAME
57 LV10285-005A MECHA COVER
58 LV41477-002A MINI TAP SCREW (x4)
59 LV30225-096A SPACER
60 VKZ4539-024 MINI SCREW (x2)
61 LV30225-073A SPACER
62 LV33488-001A H.WIRE HOLDER 1
63 LV33606-001A H.WIRE HOLDER 2
64 QYSPSGU1735M TAP SCREW M1.7 x 3.5mm



Cassette mechanism assembly and parts list

Block No. [M] [P] [M] [M]

SLC-S302M

Switch board

LEN-320M
MOBIL-1

A
@)
©

The parts without symbol number are not service.

3-13



Cassette mechanism

Block No. [M][P][M][M]

A Symbol No. Part No. Part Name Description Local

1 VKS1165-00N CHASSIS B. ASSY

2 VKS2274-002 REEL GEAR (x2)

3 VKW5286-002 B.T. SPRING (x2)

4 VKS5559-001 PLAY IDLE GEAR

5 VKS5595-002 BLIND

6 VKS5560-003 FR IDLE GEAR

7 LV42013-001A EARTH SPRING

8 SLC-RP4SVM HEAD MOUNT ASSY

9 VKY3149-002 CASSETTE SP.

10 LV31786-002A PLAY LEVER

1 VKS1166-003 CONTROL CAM

12 VKW5279-002 HEAD BASE SP(R)

13 VKW5280-001 HEAD BASE SP(L)

14 LV41584-001A BRAKE(R)

15 LV41585-003A BRAKE(L)

16 QYSBSF2005Z SCREW 2mm x 5mm
17 VKS5603-00G MAIN PULLEY ASS

18 VKS3785-001MM FR ARM

19 VKW5284-002 SWING SPRING
20 VKS2278-003 TRIGGER ARM
21 VKW5301-001 FR SPRING
22 VKW5266-001 ELEVATOR SPRING
23 WDL214025 WASHER
24 QYSBSF2005Z SCREW 2mm x 5mm
25 VKS3786-00G CLUTCH ASSY
26 VKF3205-00B F.WHEEL ASSY(R)
27 WDL 183425 SLIT WASHER
28 VKF3207-00C F.WHEEL ASSY(L)
29 WDL173525-6 SLIT WASHER
30 VKZ3174-00B DC SOLENOID
31 LV42836-001A CAPSTAN BELT
32 MSI-5U2LWA D.C.MOTOR
33 VKR4761-003 MOTOR PULLEY
34 QYSPSP26042 SCREW 2.6mm x 4mm(x2)
35 QYSBSF2608Z TAPPING SCREW 2.6mm x 8mm(x3)
36 QUQH12-0906BF WIRE



Electrical parts list
Main board

Block No. [0][1]

A\ SymbolNo.  Part No. Part Name Description Local
AIC101 LA4628 IC
IC311 LC75345M-X IC
IC501 GP1UM261XKVF IRDETECT UNIT
1C601 AN17140A-W ALPHASIC
Q1101 UN211E-X DIGI TRANSISTOR
Q1102 UN211E-X DIGI TRANSISTOR
Q1103 28C3576-JVC-T TRANSISTOR
Q1201 UN211E-X DIGI TRANSISTOR
Q1202 UN211E-X DIGI TRANSISTOR
Q1203 2SC3576-JVC-T TRANSISTOR
Q1301 UN221E-X TRANSTSTOR
Q1302 2SB709A/R/-X TRANSISTOR
A Q1401 2SB941A/QP/ TRANSISTOR
Q1402 2SD601A/RS/-X TRANSISTOR
Q1403 2SD601A/RS/-X TRANSISTOR
Q1404 2SD601A/RS/-X TRANSISTOR
AQ2501 KTA1271/0Y/-T TRANSISTOR
Q2502 2SD601A/RS/-X TRANSISTOR
A\ Q2801 KTB772/Y/ TRANSISTOR
Q2802 2SD601A/RS/-X TRANSISTOR
Q3391 KTC3199/GL/-T TRANSISTOR
Q6151 2SD601A/RS/-X TRANSISTOR
Q6251 2SD601A/RS/-X TRANSISTOR
Q6301 28D601A/RS/-X TRANSISTOR
Q6304 2SD601A/RS/-X TRANSISTOR
A\ Q6951 KTC3199/GL/-T TRANSISTOR
D1101 1S8133-T2 DIODE
D1102 11EQSO3LN-T2 FR DIODE
D1201 188133-T2 DIODE
D1202 11EQSO3LN-T2 FR DIODE
D1301 188133-T2 DIODE
D1401 1S8133-T2 DIODE
D1402 MTZJ10A-T2 Z DIODE
D2301 1S8133-T2 DIODE
D2501 188133-T2 DIODE
D2503 188133-T2 DIODE
D2801 MTZJ5.6A-T2 Z DIODE
D2802 188133-T2 DIODE
D3351 1N4003S-T5 SI DIODE
D3352 1N4003S-T5 SI DIODE
D3391 188133-T2 DIODE
D5341 NSTM515AS LED
D5351 NSTM515AS LED
D6301 MTZJ4.7C-T2 Z DIODE
D6351 188133-T2 DIODE
D6352 1S8133-T2 DIODE
C1103 QENC1EM-106Z BP E CAPACITOR  10uF 25V M
C1104 QETN1HM-475Z E CAPACITOR 4.7uF 50V M
C1105 NCB31CK-473X C CAPACITOR 0.047uF 16V K
C1106 QFVF1HJ-104Z MF CAPACITOR 0.1uF 50V J
Cc1107 QFVF1HJ-104Z MF CAPACITOR 0.1uF 50V J
C1108 NDC31HJ-151X C CAPACITOR 150pF 50V J
C1109 QTE1V06-106Z E CAPACITOR 10uF 35V
C1203 QENC1EM-106Z BP E CAPACITOR  10uF 25V M
C1204 QETN1HM-475Z E CAPACITOR 4.7uF 50V M
C1205 NCB31CK-473X C CAPACITOR 0.047uF 16V K
C1206 QFVF1HJ-104Z MF CAPACITOR 0.1uF 50V J
C1207 QFVF1HJ-104Z MF CAPACITOR 0.1uF 50V J
C1208 NDC31HJ-151X C CAPACITOR 150pF 50V J
C1209 QTE1V06-106Z E CAPACITOR 10uF 35V
C1302 QETN1CM-107Z E CAPACITOR 100uF 16V M
AC1303 QEZ0578-828 E CAPACITOR 8200uF
C1305 QFVC1HJ-474Z MF CAPACITOR 0.47uF 50V J
C1306 QETN1HM-474Z E CAPACITOR 0.47uF 50V M
C1307 QETN1HM-336Z E CAPACITOR 33uF 50V M
C1309 QTE1E28-107Z E CAPACITOR 100uF 25V
C1310 QETN1HM-226Z E CAPACITOR 22uF 50V M
C1311 NCB31HK-103X C CAPACITOR 0.01uF 50V K
C1399 QFLC1HJ-103Z M CAPACITOR 0.01uF 50V J

A\ SymbolNo. ~ Part No. Part Name Description Local
C1401 QENC1HM-105Z BP E CAPACITOR  1uF 50V M
C1402 NCB31HK-561X C CAPACITOR 560pF 50V K
C1403 QETN1CM-227Z E CAPACITOR 220uF 16V M
C1404 QETN1HM-104Z E CAPACITOR 0.1uF 50V M
C2501 QTE1C06-226Z E CAPACITOR 22uF 16V
C2502 NCB31HK-103X C CAPACITOR 0.01uF 50V K
C2503 QTE1C06-476Z E CAPACITOR 47uF 16V
C2801 QETN1HM-226Z E CAPACITOR 22uF 50V M
C2802 QETN1AM-107Z E CAPACITOR 100uF 10V M
C2803 NCB31HK-103X C CAPACITOR 0.01uF 50V K
C3101 QETN1HM-475Z E CAPACITOR 4.7uF 50V M
C3104 QETN1HM-475Z E CAPACITOR 4.7uF 50V M
C3105 QTE1H15-106Z E CAPACITOR 10uF 50V
C3106 QETN1HM-475Z E CAPACITOR 4.7uF 50V M
C3107 QFG32AJ-472Z PP CAPACITOR 4700pF 100V J
C3108 QETN1HM-475Z E CAPACITOR 4.7uF 50V M
C3109 QFN31HJ-2227 M CAPACITOR 2200pF 50V J
C3110 QFVF1HJ-104Z MF CAPACITOR 0.1uF 50V J
C3111 QFVF1HJ-104Z MF CAPACITOR 0.1uF 50V J
C3112 NDC31HJ-181X C CAPACITOR 180pF 50V J
C3113 NDC31HJ-181X C CAPACITOR 180pF 50V J
C3161 QETN1HM-475Z E CAPACITOR 4.7uF 50V M
C3163 NCB31HK-221X C CAPACITOR 220pF 50V K
C3166 QETN1HM-475Z E CAPACITOR 4.7uF 50V M
C3191 NCB31HK-561X C CAPACITOR 560pF 50V K
C3201 QETN1HM-475Z E CAPACITOR 4.7uF 50V M
C3204 QETN1HM-475Z E CAPACITOR 4.7uF 50V M
C3205 QTE1H15-106Z E CAPACITOR 10uF 50V
C3206 QETN1HM-475Z E CAPACITOR 4.7uF 50V M
C3207 QFG32AJ-472Z PP CAPACITOR 4700pF 100V J
C3208 QETN1HM-475Z E CAPACITOR 4.7uF 50V M
C3209 QFN31HJ-2227 M CAPACITOR 2200pF 50V J
C3210 QFVF1HJ-104Z MF CAPACITOR 0.1uF 50V J
C3211 QFVF1HJ-104Z MF CAPACITOR 0.1uF 50V J
C3212 NDC31HJ-181X C CAPACITOR 180pF 50V J
C3213 NDC31HJ-181X C CAPACITOR 180pF 50V J
C3261 QETN1HM-475Z E CAPACITOR 4.7uF 50V M
C3263 NCB31HK-221X C CAPACITOR 220pF 50V K
C3266 QETN1HM-475Z E CAPACITOR 4.7uF 50V M
C3291 NCB31HK-561X C CAPACITOR 560pF 50V K
C3301 QTE1A28-107Z E CAPACITOR 100uF 10V
C3302 QETN1AM-337Z E CAPACITOR 330uF 10V M
C3362 QFVF1HJ-104Z MF CAPACITOR 0.1uF 50V J
C3363 QFVF1HJ-104Z MF CAPACITOR 0.1uF 50V J
C3391 NCB31HK-333X C CAPACITOR 0.033uF 50V K
C3392 QETN1AM-227Z E CAPACITOR 220uF 10V M
C3393 QETN1AM-107Z E CAPACITOR 100uF 10V M
C5031 QEKJ1CM-476Z E CAPACITOR 47uF 16V M
C5032 NCB31HK-102X C CAPACITOR 1000pF 50V K
C5301 NDC31HJ-101X C CAPACITOR 100pF 50V J
C5302 NDC31HJ-101X C CAPACITOR 100pF 50V J
C5303 NDC31HJ-101X C CAPACITOR 100pF 50V J
C5304 NCS31HJ-470X C CAPACITOR 47pF 50V J
C5305 NCS31HJ-470X C CAPACITOR 47pF 50V J
C5306 NCF31AZ-105X C CAPACITOR 1uF 10V Z
C5307 NCF31AZ-105X C CAPACITOR 1uF 10V Z
C5601 QCBB1HK-103Y C CAPACITOR 0.01uF 50V K
C5602 QDGB1HK-102Y C CAPACITOR 1000pF 50V K
C5603 QDGB1HK-102Y C CAPACITOR 1000pF 50V K
C6151 QETN1HM-474Z E CAPACITOR 0.47uF 50V M
C6153 QFLC1HJ-823Z M CAPACITOR 0.082uF 50V J
C6154 QFLC1HJ-823Z M CAPACITOR 0.082uF 50V J
C6155 QTE1V39-106Z E CAPACITOR 10uF 35V
C6251 QETN1HM-474Z E CAPACITOR 0.47uF 50V M
C6253 QFLC1HJ-823Z M CAPACITOR 0.082uF 50V J
C6254 QFLC1HJ-823Z M CAPACITOR 0.082uF 50V J
C6255 QTE1V39-106Z E CAPACITOR 10uF 35V
C6301 QFLC1HJ-102Z M CAPACITOR 1000pF 50V J
C6302 QFLC1HJ-273Z M CAPACITOR 0.027uF 50V J
C6303 QFLC1HJ-332Z M CAPACITOR 3300pF 50V J
C6305 QFLC1HJ-562Z M CAPACITOR 5600pF 50V J
C6307 QFLC1HJ-392Z M CAPACITOR 3900pF 50V J
C6309 QFLC1HJ-392Z M CAPACITOR 3900pF 50V J
C6311 QFLC1HJ-222Z M CAPACITOR 2200pF 50V J
C6312 QFLC1HJ-152Z M CAPACITOR 1500pF 50V J
C6313 QETN1CM-226Z E CAPACITOR 22uF 16V M



A\ SymbolNo.  Part No. Part Name Description Local A\ Symbol No.  Part No. Part Name Description Local
C6315 QETN1AM-337Z E CAPACITOR 330uF 10V M R3254 NRSA63J-822X MG RESISTOR 8.2kQ 1/16W J
C6316 QTE1C28-107Z E CAPACITOR 100uF 16V R3255 NRSA63J-332X MG RESISTOR 3.3kQ 1/16W J
C6317 QETN1HM-4742 E CAPACITOR 0.47uF 50V M R3262 NRSA63J-472X MG RESISTOR 4.7kQ 1116W J
C6318 QETN1HM-4742 E CAPACITOR 0.47uF 50V M R3263 NRSA63J-272X MG RESISTOR 2.7kQ 1/116W J
C6319 NCB31HK-123X C CAPACITOR 0.012uF 50V K R3264 NRSAB3J-242X MG RESISTOR 2.4kQ 1/116W J
C6320 NCB31HK-682X C CAPACITOR 6800pF 50V K R3291 NRSAB3J-202X MG RESISTOR 2kQ 1116W J
C6321 QETN1HM-106Z E CAPACITOR 10uF 50V M R3292 NRSA63J-303X MG RESISTOR 30kQ 1/16W J
C6322 QETN1CM-107Z E CAPACITOR 100uF 16V M R3293 NRSA63J-273X MG RESISTOR 27kQ 1/16W J
C6323 QETN1CM-476Z E CAPACITOR 47uF 16V M R3301 NRSA63J-222X MG RESISTOR 2.2kQ 1/116W J
C6351 QETN1HM-105Z E CAPACITOR 1uF 50V M R3302 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J
C6352 QETN1HM-106Z E CAPACITOR 10uF 50V M R3303 NRSA63J-222X MG RESISTOR 2.2kQ 1/116W J
C6901 QETN1HM-106Z E CAPACITOR 10uF 50V M R3306 QRE141J-101Y C RESISTOR 100Q 1/4W J
C6951 QTE1C06-476Z E CAPACITOR 47uF 16V R3321 NRSA63J-101X MG RESISTOR 100Q 1/16W J
C6952 NCB31HK-102X C CAPACITOR 1000pF 50V K R3322 NRSAB3J-101X MG RESISTOR 100Q 1/16W J

R3323 NRSA63J-101X MG RESISTOR 100Q 1/16W J
R1101 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J R3324 NRSA63J-101X MG RESISTOR 100Q 1/16W J
R1102 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J R3362 NRSA63J-101X MG RESISTOR 100Q 1/16W J
R1103 QRE141J-471Y C RESISTOR 470Q 1/4W J R3363 NRSA63J-101X MG RESISTOR 100Q 1/16W J
R1105 NRSAB3J-303X MG RESISTOR 30kQ 1/16W J R3364 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R1106 NRSA63J-822X MG RESISTOR 8.2kQ 1/16W J R3365 NRSA63J-101X MG RESISTOR 100Q 1/16W J
R1107 QRE141J-2R2Y C RESISTOR 2.2Q1/4W J R3391 NRSA63J-331X MG RESISTOR 330Q 1/16W J
R1108 QRE141J-2R2Y C RESISTOR 2.2Q1/4W J R3392 NRSA63J-562X MG RESISTOR 5.6kQ 1/16W J
R1109 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J R3393 NRSAB3J-472X MG RESISTOR 4.7kQ 1116W J
R1110 NRSAB3J-563X MG RESISTOR 56kQ 1/16W J R5011 NRSAB3J-332X MG RESISTOR 3.3kQ 1/116W J
R1111 NRSAB3J-123X MG RESISTOR 12kQ 1/16W J R5012 NRSAB3J-272X MG RESISTOR 2.7kQ 1/116W J
R1201 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J R5013 NRSAB3J-392X MG RESISTOR 3.9kQ 1/16W J
R1202 NRSA63J-103X MG RESISTOR 10kQ 1/16W J R5014 NRSA63J-682X MG RESISTOR 6.8kQ 1/16W J
R1203 QRE141J-471Y C RESISTOR 470Q 1/4W J R5015 NRSA63J-123X MG RESISTOR 12kQ 1/16W J
R1205 NRSAB3J-303X MG RESISTOR 30kQ 1/16W J R5016 NRSAB3J-393X MG RESISTOR 39kQ 1/16W J
R1206 NRSAB3J-822X MG RESISTOR 8.2kQ 1/16W J R5021 NRSAB3J-332X MG RESISTOR 3.3kQ 1/16W J
R1207 QRE141J-2R2Y C RESISTOR 2.2Q1/4W J R5022 NRSA63J-272X MG RESISTOR 2.7kQ 1/116W J
R1208 QRE141J-2R2Y C RESISTOR 2.2Q1/4W J R5023 NRSA63J-392X MG RESISTOR 3.9kQ 1/16W J
R1209 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J R5024 NRSAB3J-682X MG RESISTOR 6.8kQ 1/16W J
R1210 NRSA63J-563X MG RESISTOR 56kQ 1/16W J R5025 NRSA63J-123X MG RESISTOR 12kQ 1/16W J
R1211 NRSAB3J-123X MG RESISTOR 12kQ 1/16W J R5301 NRSAB3J-272X MG RESISTOR 2.7kQ 1/116W J
R1302 NRSA63J-562X MG RESISTOR 5.6kQ 1/16W J R5601 QRE141J-301Y C RESISTOR 300Q 1/4W J
R1303 NRSA63J-103X MG RESISTOR 10kQ 1/16W J R5602 QRE141J-301Y C RESISTOR 300Q 1/4W J
R1401 NRSA63J-564X MG RESISTOR 560kQ 1/16W J R5603 QRE141J-301Y C RESISTOR 300Q 1/4W J
R1402 QRE141J-221Y C RESISTOR 220Q 1/4W J R5604 QRE141J-301Y C RESISTOR 300Q 1/4W J
R1403 NRSAB3J-223X MG RESISTOR 22kQ 1/16W J R6151 NRSAB3J-152X MG RESISTOR 1.5kQ 1/16W J
R1404 NRSA63J-223X MG RESISTOR 22kQ 1/16W J R6152 NRSA63J-272X MG RESISTOR 2.7kQ 1/16W J
R1405 NRSAB3J-472X MG RESISTOR 4.7kQ 1/116W J R6153 NRSAB3J-204X MG RESISTOR 200kQ 1/16W J
R1406 NRSAB3J-331X MG RESISTOR 330Q 1/16W J R6154 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R1407 NRSAB3J-223X MG RESISTOR 22kQ 1/16W J R6155 NRSAB3J-202X MG RESISTOR 2kQ 1116W J
R1408 NRSAB3J-101X MG RESISTOR 100Q 1/16W J R6156 NRSAB3J-202X MG RESISTOR 2kQ 1116W J
R1409 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J R6157 NRSA63J-473X MG RESISTOR 47kQ 1/16W J
R1410 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J R6158 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R2302 NRSAB3J-822X MG RESISTOR 8.2kQ 1/16W J R6251 NRSAB3J-152X MG RESISTOR 1.5kQ 1/16W J
R2303 NRSAB3J-332X MG RESISTOR 3.3kQ 1/16W J R6252 NRSAB3J-272X MG RESISTOR 2.7kQ 1/116W J
R2501 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J R6253 NRSAB3J-204X MG RESISTOR 200kQ 1/16W J
R2502 QRE141J-561Y C RESISTOR 560Q 1/4W J R6254 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
R2503 NRSAB3J-562X MG RESISTOR 5.6kQ 1/16W J R6255 NRSAB3J-202X MG RESISTOR 2kQ 1116W J
R2504 NRSA63J-562X MG RESISTOR 5.6kQ 1/16W J R6256 NRSA63J-202X MG RESISTOR 2kQ 1/16W J
R2801 NRSAG3J-103X MG RESISTOR 10kQ 1/16W J R6257 NRSAB3J-473X MG RESISTOR 47kQ 1/16W J
R2802 NRSAB3J-332X MG RESISTOR 3.3kQ 1/16W J R6258 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R2803 NRSA63J-182X MG RESISTOR 1.8kQ 1/16W J R6301 QRE141J-101Y C RESISTOR 100Q 1/4W J
R2804 QRE141J-271Y C RESISTOR 270Q 1/4W J R6302 NRSA63J-473X MG RESISTOR 47kQ 1/116W J
R2805 NRSAG3J-153X MG RESISTOR 15kQ 1/16W J R6303 NRSA63J-113X MG RESISTOR 11kQ 1/16W J
R3102 NRSAB3J-912X MG RESISTOR 9.1kQ 1/16W J R6304 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R3103 NRSAB3J-183X MG RESISTOR 18kQ 1/16W J R6306 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R3104 NRSAB3J-752X MG RESISTOR 7.5kQ 1/16W J R6308 NRSAG3J-103X MG RESISTOR 10kQ 1/16W J
R3105 NRSAB3J-752X MG RESISTOR 7.5kQ 1/16W J R6309 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R3106 NRSA63J-102X MG RESISTOR 1kQ 1/16W J R6351 NRSA63J-124X MG RESISTOR 120kQ 1/16W J
R3151 NRSAB3J-101X MG RESISTOR 100Q 1/16W J R6352 NRSAB3J-683X MG RESISTOR 68kQ 1/16W J
R3154 NRSA63J-822X MG RESISTOR 8.2kQ 1/16W J R6353 NRSA63J-513X MG RESISTOR 51kQ 1/16W J
R3155 NRSAB3J-332X MG RESISTOR 3.3kQ 1/16W J R6951 NRSAB3J-561X MG RESISTOR 560Q 1/16W J
R3162 NRSAB3J-472X MG RESISTOR 4.7kQ 1/116W J
R3163 NRSA63J-272X MG RESISTOR 2.7kQ 1/16W J L3321 QQL244K-100Z COolL 10uH K
R3164 NRSA63J-242X MG RESISTOR 2.4kQ 1/16W J L3322 QQL244K-100Z ColL 10uH K
R3191 NRSA63J-202X MG RESISTOR 2kQ 1116W J L3361 QQL244K-100Z COoIL 10uH K
R3192 NRSA63J-303X MG RESISTOR 30kQ 1/16W J L3362 QQL244K-100Z ColL 10uH K
R3193 NRSAB3J-273X MG RESISTOR 27kQ 1/16W J L3363 QQL244K-100Z ColL 10uH K
R3202 NRSA63J-912X MG RESISTOR 9.1kQ 1/16W J L5603 QQL231K-470Y ColL 47uH K
R3203 NRSAB3J-183X MG RESISTOR 18kQ 1/16W J
R3204 NRSA63J-752X MG RESISTOR 7.5kQ 1/16W J CN101 QGB2510J1-08 CONNECTOR B-B (1-8)
R3205 NRSA63J-752X MG RESISTOR 7.5kQ 1/16W J CN102  QGB1214J1-10S CONNECTOR B-B (1-10)
R3206 NRSA63J-102X MG RESISTOR 1kQ 1/16W J CN103  QGB1214J1-14S CONNECTOR B-B (1-14)
R3251 NRSA63J-101X MG RESISTOR 100Q 1/16W J CN104  QGB2510J1-08 CONNECTOR B-B (1-8)

3-16



A\ SymbolNo.  Part No. Part Name Description Local A\ SymbolNo.  Part No. Part Name Description Local
CN105  QGF1205F1-10 CONNECTOR FFCIFPC (1-10) Q7809  2SD601A/RS/-X TRANSISTOR
CN106  QGB1214J1-14S CONNECTOR B-B (1-14) Q7810  2SD601A/RS/-X TRANSISTOR
CN107  QGF1036C1-21 CONNECTOR FFCIFPC (1-21) Q7811  2SD601A/RS/-X TRANSISTOR
CN108  QGA2501F1-02 CONNECTOR W-B (1-2) Q7812  2SD601A/RS/-X TRANSISTOR
CN501  QGF1036F1-09 CONNECTOR FFCIFPC (1-9) Q7901 KTA1273/Y/-T TRANSISTOR
CN531  QGF1036F1-15 CONNECTOR FFCIFPC (1-15) Q7902  2SD601A/RS/-X TRANSISTOR
CN801  QGF1036C1-17 CONNECTOR FFCIFPC (1-17) Q7903  2SD601A/RS/-X TRANSISTOR
CN802  QGF1036C1-08 CONNECTOR FFC/FPC (1-8) Q9001  2SD601A/RS/-X TRANSISTOR
CN803  QGF1036F1-08 CONNECTOR FFCIFPC (1-8)
CN804  QGB2510J1-04 CONNECTOR B-B (1-4) D2601  1SS133-T2 DIODE
CN805  QGB1214K1-14S CONNECTOR B-B (1-14) D2602  MTZJ5.1B-T2 Z DIODE
DI531 QLD0334-001 LCD MODULE AD2901  1N5402M-20 DIODE
EP102  QNZ0136-001Z EARTH PLATE AD2902  1N5402M-20 DIODE
EP561  QNZ0136-001Z EARTH PLATE AD2903  1N5402M-20 DIODE
FW101  QUMO025-11Z3Z3 PARA RIBBON WIR AD2904  1N5402M-20 DIODE
FW102  QUM023-1223Z3 PARA RIBBON WIR AD2910  1N4003S-T5 SI DIODE
J319 QNN0420-001 SURROUND JACK AD2911 1N4003S-T5 SI DIODE
J1001 QNB0204-001 SPK TERMINAL AD2912  1N4003S-T5 SI DIODE
J5601 QNS0170-001 HEADPHONE JACK AD2913  1N4003S-T5 SI DIODE
JS501 QSW0993-001 ROTARY ENCODER D6901  1SS133-T2 DIODE
K3321  QQR0621-001Z colL D6902  MTZJ5.6A-T2 Z DIODE
K3323  QQR0621-001Z colL D7016  1SS133-T2 DIODE
K3324  QQR0621-001Z colL D7301  1SS133-T2 DIODE
K3361  QQR0621-001Z colL D7302  MTZJ5.1C-T2 Z DIODE
K3362  QQR0621-001Z colL D7303  1SS133-T2 DIODE
K3363  QQR0621-001Z colL D7311 185133-T2 DIODE
S5001  QSW0683-001Z PUSH SW D7321  1SS133-T2 DIODE
S5002  QSW0683-001Z PUSH SW D7901  MTZJ5.6B-T2 Z DIODE
S5003  QSW0683-001Z PUSH SW D7902  1N4003S-T5 SI DIODE
S5004  QSW0683-001Z PUSH SW D7903  MTZJ8.2B-T2 Z DIODE
S5005  QSW0683-001Z PUSH SW D9001  1SS133-T2 DIODE
S5006  QSW0683-001Z PUSH SW D002  1N4003S-T5 SI DIODE
S5007  QSW0683-001Z PUSH SW
S5008  QSW0683-001Z PUSH SW C2601  QENC1HM-105Z BP E CAPACITOR  1uF 50V M
S5009  QSW0683-001Z PUSH SW AC2602  NCB31HK-561X C CAPACITOR 560pF 50V K
S5010  QSW0683-001Z PUSH SW AC2603  QETN1HM-104Z E CAPACITOR 0.1uF 50V M
S5011 QSW0683-001Z PUSH SW C2604  QETN1AM-227Z E CAPACITOR 220uF 10V M
S5012  QSW0683-001Z PUSH SW AC2902  QFVF1HJ-104Z MF CAPACITOR 0.1uF 50V J
S5013  QSW0683-001Z PUSH SW AC2903  QFVF1HJ-104Z MF CAPACITOR 0.1uF 50V J
S5014  QSW0683-001Z PUSH SW AC2904  QFVF1HJ-104Z MF CAPACITOR 0.1uF 50V J
WR105  QUB220-11HPHP SIN TWIST WIRE AC2905  QFVF1HJ-104Z MF CAPACITOR 0.1uF 50V J
WR501  QUB220-08BXHP SIN TWIST WIRE AC2906  QETM1EM-228 E CAPACITOR 2200uF 25V M
C3115  QEKC1EM-475Z E CAPACITOR 4.7uF 25V M
C3215  QEKC1EM-475Z E CAPACITOR 4.7uF 25V M
. C6314  QETN1HM-106Z E CAPACITOR 10uF 50V M
Micon board C6324  QETNTHM-106Z E CAPACITOR 10uF 50V M
C6325  QETN1CM-476Z E CAPACITOR 47uF 16V M
Block No. [0][2] C6902  QETNTHM-106Z E CAPACITOR 10uF 50V M
C7001  QEKC1CM-107Z E CAPACITOR 100uF 16V M
A\ SymbolNo.  Part No. Part Name Description Local C7002 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z
C7015  NCB31HK-103X C CAPACITOR 0.01uF 50V K
C7024  NCB31HK-103X C CAPACITOR 0.01uF 50V K
IC701 UPD784215AGF541  IC C7311 QETN1HM-475Z E CAPACITOR 4.7uF 50V M
IC741 BR24L02F-W-X IC C7312  QETN1HM-225Z E CAPACITOR 2.2uF 50V M
C7321  QETNOJM-228Z E CAPACITOR 2200uF 6.3V M
AQ2601  KTA1046/Y/ TRANSISTOR C7331  NCB31HK-103X C CAPACITOR 0.01uF 50V K
Q2602  2SD601A/RS/-X TRANSISTOR C7351  QETN1EM-106Z E CAPACITOR 10uF 25V M
Q2603 2SD601A/RS/-X TRANSISTOR C7352  QETN1EM-106Z E CAPACITOR 10uF 25V M
Q2604  2SD601A/RS/-X TRANSISTOR C7353  NCB31HK-103X C CAPACITOR 0.01uF 50V K
Q2901 2SD601A/RS/-X TRANSISTOR C7354  NCB31HK-103X C CAPACITOR 0.01uF 50V K
Q6901 KTA1267/YG/-T TRANSISTOR C7401  QEKC1EM-476Z E CAPACITOR 47uF 25V M
Q6902 2SDB01A/RS/-X TRANSISTOR C7402  NCB31HK-103X C CAPACITOR 0.01uF 50V K
Q7035  UN2111-X TRANSISTOR C7631  NDC31HJ-470X C CAPACITOR 47pF 50V J
Q7301 2SD601A/RS/-X TRANSISTOR C7632  NDC31HJ-330X C CAPACITOR 33pF 50V J
Q7311 UN2211-X TRANSISTOR C7633  NDC31HJ-330X C CAPACITOR 33pF 50V J
Q7331 2SD601A/RS/-X TRANSISTOR C7634  NDC31HJ-470X C CAPACITOR 47pF 50V J
Q7351 KTA1267/YGI-T TRANSISTOR C7635  NCB31HK-102X C CAPACITOR 1000pF 50V K
Q7352 UN2211-X TRANSISTOR C7636  NCB31HK-102X C CAPACITOR 1000pF 50V K
Q7631 KTC3195/0/-T TRANSISTOR C7651  NDC31HJ-220X C CAPACITOR 22pF 50V J
Q7632 KTC3195/0/-T TRANSISTOR C7652  NDC31HJ-220X C CAPACITOR 22pF 50V J
Q7801 KTC3199/GL/-T TRANSISTOR C7801  QEKC1CM-107Z E CAPACITOR 100uF 16V M
Q7802 KTC3199/GL/-T TRANSISTOR C7803  QEKC1CM-107Z E CAPACITOR 100uF 16V M
Q7803 KTC3199/GL/-T TRANSISTOR C7805  QEKC1CM-107Z E CAPACITOR 100uF 16V M
Q7804  KTC3199/GL/-T TRANSISTOR C7807  QEKC1CM-107Z E CAPACITOR 100uF 16V M
Q7805  2SD601A/RS/-X TRANSISTOR C7809  QEKC1CM-107Z E CAPACITOR 100uF 16V M
Q7806 2SD601A/RS/-X TRANSISTOR c78n QEKC1CM-107Z E CAPACITOR 100uF 16V M
Q7807 2SD601A/RS/-X TRANSISTOR C7901  QETN1CM-107Z E CAPACITOR 100uF 16V M
Q7808 2SD601A/RS/-X TRANSISTOR C7903  NCF31EZ-104X C CAPACITOR 0.1uF 25V Z



A\ SymbolNo.  Part No. Part Name Description Local A\ Symbol No.  Part No. Part Name Description Local

A\ C9001 QCZ9104-472 C CAPACITOR 4700pF R7085 NRSA63J-393X MG RESISTOR 39kQ 1/16W J
€9002 QETM1EM-108 E CAPACITOR 1000uF 25V M R7086 NRSA63J-682X MG RESISTOR 6.8kQ 1/16W J
C9003 NCB31HK-103X C CAPACITOR 0.01uF 50V K R7088 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J

R7089 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J

R2601 QRE141J-271Y C RESISTOR 270Q 1/4W J R7090 NRSA63J-222X MG RESISTOR 2.2kQ 1/116W J
R2602 NRSAB3J-564X MG RESISTOR 560kQ 1/16W J R7092 NRSAB3J-153X MG RESISTOR 15kQ 1/16W J
R2603 NRSAB3J-331X MG RESISTOR 330Q 1/16W J R7093 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R2604 NRSA63J-223X MG RESISTOR 22kQ 1/16W J R7094 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
R2605 NRSAB3J-472X MG RESISTOR 4.7kQ 1/116W J R7095 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R2606 NRSA63J-472X MG RESISTOR 4.7kQ 1/16W J R7096 NRSA63J-223X MG RESISTOR 22kQ 1/16W J
R2607 NRSAB3J-223X MG RESISTOR 22kQ 1/16W J R7097 NRSAB3J-472X MG RESISTOR 4.7kQ 1116W J
R2608 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J R7098 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J
R2609 NRSA63J-101X MG RESISTOR 100Q 1/16W J R7103 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R2610 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J R7118 NRSAB3J-823X MG RESISTOR 82kQ 1/16W J
R2611 QRE141J-271Y C RESISTOR 270Q 1/4W J R7121 NRSA63J-104X MG RESISTOR 100kQ 1/16W J
R2612 QRE141J-271Y C RESISTOR 270Q 1/4W J R7126 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
R2901 NRSAB3J-393X MG RESISTOR 39kQ 1/16W J R7127 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R2902 NRSAG3J-103X MG RESISTOR 10kQ 1/16W J R7128 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R6901 QRE141J-561Y C RESISTOR 560Q 1/4W J R7129 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
R6902 NRSA63J-183X MG RESISTOR 18kQ 1/16W J R7154 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
R7001 NRSAB3J-223X MG RESISTOR 22kQ 1/16W J R7155 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R7002 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J R7156 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
R7003 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J R7157 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J
R7004 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J R7159 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J
R7005 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J R7160 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J
R7006 NRSAB3J-133X MG RESISTOR 13kQ 1/16W J R7165 NRSAB3J-101X MG RESISTOR 100Q 1/16W J
R7007 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J R7179 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
R7014 NRSAB3J-392X MG RESISTOR 3.9kQ 1/16W J R7223 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R7015 NRSAB3J-392X MG RESISTOR 3.9kQ 1/16W J R7224 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R7016 NRSAB3J-392X MG RESISTOR 3.9kQ 1/16W J R7225 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R7017 NRSAB3J-392X MG RESISTOR 3.9kQ 1/16W J R7253 NRSAB3J-332X MG RESISTOR 3.3kQ 1/16W J
R7018 NRSAB3J-392X MG RESISTOR 3.9kQ 1/16W J R7301 NRSAB3J-473X MG RESISTOR 47kQ 1/16W J
R7019 NRSAB3J-392X MG RESISTOR 3.9kQ 1/16W J R7302 NRSAB3J-333X MG RESISTOR 33kQ 1/16W J
R7022 NRSA63J-103X MG RESISTOR 10kQ 1/16W J R7303 NRSA63J-104X MG RESISTOR 100kQ 1/16W J
R7023 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J R7311 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R7024 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J R7312 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R7025 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J R7321 QRE141J-331Y C RESISTOR 330Q 1/4W J
R7026 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J R7331 NRSAB3J-823X MG RESISTOR 82kQ 1/16W J
R7027 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J R7332 NRSA63J-394X MG RESISTOR 390kQ 1/16W J
R7028 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J R7333 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J
R7029 NRSA63J-682X MG RESISTOR 6.8kQ 1/16W J R7351 NRSA63J-392X MG RESISTOR 3.9kQ 1/16W J
R7031 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J R7352 NRSAB3J-473X MG RESISTOR 47kQ 1/16W J
R7032 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J R7631 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J
R7033 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J R7632 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J
R7034 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J R7633 NRSAB3J-822X MG RESISTOR 8.2kQ 1/16W J
R7035 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J R7634 NRSA63J-822X MG RESISTOR 8.2kQ 1/16W J
R7036 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J R7801 QRE141J-101Y C RESISTOR 100Q 1/4W J
R7043 NRSA63J-102X MG RESISTOR 1kQ 1/16W J R7802 QRE141J-101Y C RESISTOR 100Q 1/4W J
R7044 NRSA63J-102X MG RESISTOR 1kQ 1/16W J R7803 QRE141J-101Y C RESISTOR 100Q 1/4W J
R7046 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J R7804 QRE141J-101Y C RESISTOR 100Q 1/4W J
R7047 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J R7805 QRE141J-181Y C RESISTOR 180Q 1/4W J
R7048 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J R7806 QRE141J-181Y C RESISTOR 180Q 1/4W J
R7049 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J R7807 QRE141J-181Y C RESISTOR 180Q 1/4W J
R7053 NRSA63J-392X MG RESISTOR 3.9kQ 1/16W J R7808 QRE141J-181Y C RESISTOR 180Q 1/4W J
R7054 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J R7809 QRE141J-181Y C RESISTOR 180Q 1/4W J
R7055 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J R7810 QRE141J-181Y C RESISTOR 180Q 1/4W J
R7056 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J R7811 QRE141J-181Y C RESISTOR 180Q 1/4W J
R7057 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J R7812 QRE141J-181Y C RESISTOR 180Q 1/4W J
R7058 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J R7813 NRSAB3J-101X MG RESISTOR 100Q 1/16W J
R7059 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J R7814 NRSAB3J-101X MG RESISTOR 100Q 1/16W J
R7060 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J R7815 NRSAG3J-101X MG RESISTOR 100Q 1/16W J
R7062 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J R7816 NRSAB3J-101X MG RESISTOR 100Q 1/16W J
R7065 NRSA63J-102X MG RESISTOR 1kQ 1/16W J R7817 NRSA63J-101X MG RESISTOR 100Q 1/16W J
R7066 NRSAB3J-332X MG RESISTOR 3.3kQ 1/16W J R7818 NRSAB3J-101X MG RESISTOR 100Q 1/16W J
R7067 NRSA63J-332X MG RESISTOR 3.3kQ 1/16W J R7901 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
R7068 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J R7902 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R7069 NRSAB3J-332X MG RESISTOR 3.3kQ 1/16W J R7903 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R7070 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J R7904 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R7074 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J R7905 QRE141J-2R2Y C RESISTOR 2.2Q1/4WJ
R7075 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J
R7076 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J L7001 QQL244K-100Z ColL 10uH K
R7077 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J L7024 QQL244K-100Z ColL 10uH K
R7078 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J ANT9002 QQT0253-003 POWER TRANSF
R7079 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J
R7081 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J CN201 QGB2510K2-08 CONNECTOR B-B (1-8)
R7082 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J CN701 QGB2510K2-08 CONNECTOR B-B (1-8)
R7083 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J CN702  QGF1036C1-15 CONNECTOR FFC/FPC (1-15)
R7084 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J CN703  QGF1205C1-09 CONNECTOR FFC/FPC (1-9)

3-18



A\ SymbolNo.  Part No. Part Name Description Local A\ SymbolNo.  Part No. Part Name Description Local
CN705  QGF1036F1-07 CONNECTOR FFCIFPC (1-7) C655 NCB31CK-104X C CAPACITOR 0.1uF 16V K
CN706  QGB1214K1-14S CONNECTOR B-B (1-14) C656 NCB31CK-104X C CAPACITOR 0.1uF 16V K
CN707  QGB1214K1-10S CONNECTOR B-B (1-10) C657 QEKJOJM-107Z E CAPACITOR 100uF 6.3V M
CN708  QGB2510K2-04 CONNECTOR B-B (1-4) C658 NCB31CK-104X C CAPACITOR 0.1uF 16V K
CN709  QGF1205C1-11 CONNECTOR FFCIFPC (1-11) C661 NDC31HJ-471X C CAPACITOR 470pF 50V J
CN710  QGF1036C1-09 CONNECTOR FFCIFPC (1-9) C663 NCB31EK-223X C CAPACITOR 0.022uF 25V K

ACNI1T  QGA7901C1-02 CONNECTOR W-B (1-2) C664 NCB31EK-223X C CAPACITOR 0.022uF 25V K
CN902  QGA2501F1-05 CONNECTOR W-B (1-5) C665 NCB21CK-154X C CAPACITOR 0.15uF 16V K
CN903  QGA2501F1-04 CONNECTOR W-B (1-4) C667 NCB21AK-225X C CAPACITOR 2.2uF 10V K
EP701  QNZ0136-001Z EARTH PLATE C668 NCB31CK-102X C CAPACITOR 1000pF 16V K

AFTI11 QNG0003-001Z FUSE CLIP C673 QEKJOJM-107Z E CAPACITOR 100uF 6.3V M

AFT912  QNG0003-001Z FUSE CLIP C676 NCB31CK-104X C CAPACITOR 0.1uF 16V K

AFT931 QNG0003-001Z FUSE CLIP C677 NCB31CK-104X C CAPACITOR 0.1uF 16V K

AFT932  QNG0003-001Z FUSE CLIP C678 NCB31CK-104X C CAPACITOR 0.1uF 16V K
K7001 QQR0621-001Z colL C679 QEKJOJM-107Z E CAPACITOR 100uF 6.3V M

ALF901 QQR1321-001 LINE FILTER €680 NCB31CK-104X C CAPACITOR 0.1uF 16V K

ARY901  QSK0124-001 RELAY C681 NDC31HJ-8ROX C CAPACITOR 8pF 50V J

ATH291  NAD0038-471X P THERMISTOR 470Q C683 NDC31HJ-680X C CAPACITOR 68pF 50V J
TP701  QNZ0104-001 POST PIN €801 NCB31EK-223X C CAPACITOR 0.022uF 25V K
TP702  QNZ0104-001 POST PIN €802 NDC31HJ-102X C CAPACITOR 1000pF 50V J
WR201  QJK008-050700 SIN CR C-B WIRE c815 NCB21AK-105X C CAPACITOR 1uF 10V K
WR291  QUB221-17BXHP SIN TWIST WIRE C816 NCB20JK-155X C CAPACITOR 1.5uF 6.3V K
WR701  QJK008-040704 SIN CR C-B WIRE C821 NCB31CK-104X C CAPACITOR 0.1uF 16V K
X7001  QAX0416-001Z C RESONATOR 8.000MHz C822 QERF1AM-227Z E CAPACITOR 220uF 10V M
X7002  QAX0401-001 CRYSTAL 32.768KHz €850 NCB21CK-105X C CAPACITOR 1uF 16V K

851 QEKJ1CM-107Z E CAPACITOR 100uF 16V M
C863 NCB31HK-222X C CAPACITOR 2200pF 50V K
C864 NCB31HK-222X C CAPACITOR 2200pF 50V K
CD servo board
R251 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
Block No. [0][3] R252  NRSA63J-102X MG RESISTOR 1kQ 1/16W J
R253 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
A\ Symbol No.  Part No. Part Name Description Local R254 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
R257 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
R258 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
IC251 UPD780024AGKC70  IC R259 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
1C291 XC62HR3502P-X IC R261 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
IC601 AN22002A-W IC R264 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
IC651 MN662790RSC IC R265 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
IC801 LAB575H-X IC R268 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
R272 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
Q631 2SA1037AK/IRS/-X  TRANSISTOR R273 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
Q652 UN2211-X TRANSISTOR R274 NRSA63J-682X MG RESISTOR 6.8kQ 1/16W J
Q673 UN2111-X TRANSISTOR R275 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
Q801 UN2215-X TRANSISTOR R281 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
Q851 25B1424/QR/-W TRANSISTOR R282 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
R283 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
D292 MA111-X S| DIODE R284 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
D603 188355-X SI DIODE R285 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
R286 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
C254 QEKJ0JM-476Z E CAPACITOR 47uF 6.3V M R287 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
€255 NCB31CK-104X C CAPACITOR 0.1uF 16V K R288 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
€256 NCB31CK-104X C CAPACITOR 0.1uF 16VK R291 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
C271 NDC31HJ-101X C CAPACITOR 100pF 50V J R292 NRSA63J-1R0X MG RESISTOR 1Q 1/16W J
C273 NCB31CK-104X C CAPACITOR 0.1uF 16V K R293 NRSA63J-1R0X MG RESISTOR 1Q 1/16W J
€291 NCB21CK-105X C CAPACITOR 1uF 16V K R294 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
€292 NCB21CK-105X C CAPACITOR 1uF 16V K R601 NRSA63J-224X MG RESISTOR 220kQ 1/16W J
C603 NCB31EK-223X C CAPACITOR 0.022uF 25V K R602 NRSA63J-823X MG RESISTOR 82kQ 1/16W J
C604 NCB31EK-223X C CAPACITOR 0.022uF 25V K R603 NRSAB3J-393X MG RESISTOR 39kQ 1/16W J
€605 NDC31HJ-271X C CAPACITOR 270pF 50V J R604 NRSA63J-224X MG RESISTOR 220kQ 1/16W J
C606 NDC31HJ-820X C CAPACITOR 82pF 50V J R605 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
C610 NCB31CK-563X C CAPACITOR 0.056uF 16V K R606 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
C611 NCB31CK-104X C CAPACITOR 0.1uF 16V K R607 NRSA63J-473X MG RESISTOR 47kQ 1/16W J
C612 NCB31CK-104X C CAPACITOR 0.1uF 16V K R608 NRSA63J-473X MG RESISTOR 47kQ 1/116W J
C614 NCB31CK-393X C CAPACITOR 0.039uF 16V K R611 NRSA63J-392X MG RESISTOR 3.9kQ 1/16W J
C615 NCB31HK-272X C CAPACITOR 2700pF 50V K R613 NRSA63J-392X MG RESISTOR 3.9kQ 1/16W J
C616 NCB31HK-182X C CAPACITOR 1800pF 50V K R617 NRSA63J-152X MG RESISTOR 1.5kQ 1/16W J
C617 NCB31HK-331X C CAPACITOR 330pF 50V K R631 NRSA63J-2R2X MG RESISTOR 2.2Q 1/16W J
€621 NCB31CK-104X C CAPACITOR 0.1uF 16V K R632 NRSA63J-3R9X MG RESISTOR 3.9Q 1/16W J
C622 QEKJ0JM-107Z E CAPACITOR 100uF 6.3V M R634 NRSA63J-3RIX MG RESISTOR 3.90 1/16W J
€623 NCB31CK-104X C CAPACITOR 0.1uF 16V K R635 NRSA63J-100X MG RESISTOR 10Q 1/16W J
C624 QEKJ0JM-107Z E CAPACITOR 100uF 6.3V M R636 NRSAB3J-151X MG RESISTOR 150Q 1/16W J
C631 QEKJ1CM-106Z E CAPACITOR 10uF 16V M R651 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
€632 NCB31CK-104X C CAPACITOR 0.1uF 16V K R652 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
C633 NCB31EK-223X C CAPACITOR 0.022uF 25V K R653 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
€651 NDC31HJ-1ROX C CAPACITOR 1pF 50V J R654 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
€652 NDC31HJ-1ROX C CAPACITOR 1pF 50V J R655 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
€653 NCB31CK-104X C CAPACITOR 0.1uF 16V K R659 NRSA63J-203X MG RESISTOR 20kQ 1/16W J



A\ SymbolNo.  Part No. Part Name Description Local A\ Symbol No.  Part No. Part Name Description
R661 NRSA63J-473X MG RESISTOR 47kQ 1116W J CN3 QGF1037F2-07W CONNECTOR FFCIFPC (1-7)
R662 NRSA63J-683X MG RESISTOR 68kQ 1/16W J CN4 QGF1006F2-07W CONNECTOR FFCIFPC (1-7)
R663 NRSA63J-683X MG RESISTOR 68kQ 1/16W J
R664 NRSA63J-221X MG RESISTOR 220Q 1/16W J
R665 NRSA63J-101X MG RESISTOR 100Q 1/16W J
R666 NRSA02J-101X MG RESISTOR 100Q 110W J MD servo control board
R667 NRSA63J-4R7X MG RESISTOR 4.7Q116W J
R668  NRSA63J-155X MG RESISTOR 1.5MQ 1/16W J Block No. [0][6]
R669 NRSA63J-391X MG RESISTOR 390Q 1/16W J
R671 NRSAB3J-684X MG RESISTOR 680kQ 1/16W J A\ Symbol No.  Part No. Part Name Description
R673 NRSA63J-223X MG RESISTOR 22kQ 1116W J
R675 NRSA63J-100X MG RESISTOR 10Q 1/16W J
R682 NRSA63J-102X MG RESISTOR 1kQ 1/16W J IC310 AN22010A-VT IC
R683 NRSA63J-105X MG RESISTOR 1MQ 1/16W J IC350 MN66621BTH IC
R685 NRSA63J-683X MG RESISTOR 68kQ 1/16W J IC351 XC6206P192M-X IC
R697 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J IC390 GM71VS17400CLTS  IC
R698 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J IC400 MM1563GF-X IC 3.6V Regulator
R699 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J IC410 ANB496SA-W IC
R801 NRSA63J-272X MG RESISTOR 2.7kQ 1/116W J IC411 BHB578FVM-X IC
R802 NRSA63J-152X MG RESISTOR 1.5kQ 1/16W J IC420 XC6206P462M-X IC
R803 NRSAB3J-472X MG RESISTOR 4.7kQ 1/116W J IC450 BD7910FV-X IC M.HEAD DRIVE
R804 NRSA63J-103X MG RESISTOR 10kQ 1/16W J IC460 AK5355VT-X IC
R805 NRSA63J-153X MG RESISTOR 15kQ 1/16W J IC461 SN74AHC1G08V-X  ICCM
R806 NRSA63J-182X MG RESISTOR 1.8kQ 1/16W J IC485 XC6206P332M-X IC
R807 NRSA63J-101X MG RESISTOR 100Q 1/16W J IC500 MN101C49KKL3 IC(MCU)

R808 NRSA63J-273X MG RESISTOR 27kQ 1/116W J IC501 SN74AHC1G08V-X  ICCM
R809 NRSA63J-391X MG RESISTOR 390Q 1/16W J IC590 BRO3LCE6F-X IC
R811 NRSA63J-473X MG RESISTOR 47kQ 1116W J
R812 NRSA63J-152X MG RESISTOR 1.5kQ 1/16W J Q330 25A1362/GI-X TRANSISTOR
R813 NRSA63J-182X MG RESISTOR 1.8kQ 1/16W J Q332 KRA116S-X TRANSISTOR
R851 NRSA63J-333X MG RESISTOR 33kQ 1/16W J
R852 NRSA63J-333X MG RESISTOR 33kQ 1/16W J D451 RB160L-60-X SB DIODE
R861 NRSA63J-681X MG RESISTOR 680Q 1/16W J D452 RB160L-60-X SB DIODE
R862 NRSA63J-681X MG RESISTOR 680Q 1/16W J
R863 NRSAB3J-561X MG RESISTOR 560Q 1/16W J €300 NCF31CZ-104X C CAPACITOR 0.1uF 16V Z
R864 NRSA63J-561X MG RESISTOR 560Q 1/16W J C311 NCF21CZ-105X C CAPACITOR 1uF 16V Z
C314 NCB31HK-221X C CAPACITOR 220pF 50V K
CN601  QGF0527F2-15W CONNECTOR FFCIFPC (1-15 C315 NCB31CK-104X C CAPACITOR 0.1uF 16V K
CN602  QGF1036F1-05 CONNECTOR FFCIFPC (1-5) C316 NCF21CZ-105X C CAPACITOR 1uF 16V Z
CN651  QGF1036F1-17 CONNECTOR FFCIFPC (1-17 C317 NEA70GM-476X E CAPACITOR 47uF 4V M
CN652 QGF1036F1-08 CONNECTOR FFC/FPC (1-8) C318 NCB31CK-223X C CAPACITOR 0.022uF 16V K
K655 NQR0007-002X FERRITE BEADS C322 NCB31CK-104X C CAPACITOR 0.1uF 16V K
K656 NQR0251-004X FERRITE BEADS C324 NCB31CK-104X C CAPACITOR 0.1uF 16V K
K657 NQR0251-004X FERRITE BEADS C325 NCB31CK-104X C CAPACITOR 0.1uF 16V K
K658 NQR0251-004X FERRITE BEADS C326 NCS31HJ-181X C CAPACITOR 180pF 50V J
SW601 QSW1047-001 PUSH SWITCH Cc327 NCS31HJ-181X C CAPACITOR 180pF 50V J
X251 QAX0664-001Z C OSCILLATOR C333 NCB21CK-154X C CAPACITOR 0.15uF 16V K
X651 NAX0476-001X CRYSTAL 33.8688MHz C340 NCB31CK-103X C CAPACITOR 0.01uF 16V K
C342 NCB31CK-103X C CAPACITOR 0.01uF 16V K
€350 NBE20JM-106X TAE CAPACITOR  10uF 6.3V M
€351 NCF21CZ-105X C CAPACITOR 1uF 16V Z
CD Ioading switch board €352 NEAD1CM-106X E CAPACITOR 10uF 16V M
€353 NEAD1CM-106X E CAPACITOR 10uF 16V M
Block No. [0][4] C354 NCB31HK-102X C CAPACITOR 1000pF 50V K
€355 NCB31CK-683X C CAPACITOR 0.068uF 16V K
A\ SymbolNo.  Part No. Part Name Description Local C356 NCB31HK-102X C CAPACITOR 1000pF 50V K
C357 NCF31CZ-104X C CAPACITOR 0.1uF 16V Z
€358 NCF31CZ-104X C CAPACITOR 0.1uF 16V Z
CN1 QGF1016F3-05 CONNECTOR FFCIFPC (1-5) €359 NCF31CZ-474X C CAPACITOR 0.47uF 16V Z
S1 QSW1074-001 DETECT SWITCH C360 NDC31HJ-6R0X C CAPACITOR 6pF 50V J
€362 NCB21CK-224X C CAPACITOR 0.22uF 16V K
€363 NCB31CK-104X C CAPACITOR 0.1uF 16V K
C364 NCF31CZ-104X C CAPACITOR 0.1uF 16V Z
LED board C365 NCB21AK-105X C CAPACITOR 1uF 10V K
C366 NCB21AK-105X C CAPACITOR 1uF 10V K
Block No. [0][5] C367 NEA70GM-476X E CAPACITOR 47uF 4V M
C370 NDC31HJ-6R0X C CAPACITOR 6pF 50V J
A\ SymbolNo.  Part No. Part Name Description Local C371 NCB21CK-474X C CAPACITOR 0.47uF 16V K
C400 NCB21AK-105X C CAPACITOR 1uF 10V K
C401 NEADOJM-476X E CAPACITOR 47uF 6.3V M
D3 UDZS7.5B-X Z DIODE C403 NCB31HK-471X C CAPACITOR 470pF 50V K
D4 UDZS7.5B-X Z DIODE C410 NEA71CM-107X E CAPACITOR 100uF 16V M
D5 UDZS7.5B-X Z DIODE c41 NCF31CZ-104X C CAPACITOR 0.1uF 16V Z
D6 UDZS7.5B-X Z DIODE C412 NCF31CZ-104X C CAPACITOR 0.1uF 16V Z
c413 NCF31CZ-104X C CAPACITOR 0.1uF 16V Z
R1 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J c418 NCF31CZ-104X C CAPACITOR 0.1uF 16V Z
C419 NCF31CZ-104X C CAPACITOR 0.1uF 16V Z
CN2 QGF1006F1-07W CONNECTOR FFCIFPC (1-7) C420 NCF31CZ-474X C CAPACITOR 0.47uF 16V Z

3-20



A\ SymbolNo.  Part No. Part Name Description Local A\ SymbolNo.  Part No. Part Name Description Local
C423 NEADOJM-107X E CAPACITOR 100uF 6.3V M R389 NRSAG3J-4R7X MG RESISTOR 47Q 1116W J
C450 NEA71CM-107X E CAPACITOR 100uF 16V M R390 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
C451 NEA70GM-107X E CAPACITOR 100uF 4V M R391 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
C452 NCF31CZ-104X C CAPACITOR 0.1uF 16V Z R396 NRSA63J-2R2X MG RESISTOR 2.2Q 1116W J
C453 NCF31CZ-104X C CAPACITOR 0.1uF 16V Z R397 NRSAB3J-2R2X MG RESISTOR 2.2Q 1116W J
C455 NDC32AJ-101X C CAPACITOR 100pF 100V J R399 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
C460 NCF31CZ-104X C CAPACITOR 0.1uF 16V Z R403 NRSA63J-1R0X MG RESISTOR 1Q 1/16W J
C461 NEAD1CM-106X E CAPACITOR 10uF 16V M R404 NRSA63J-1R0X MG RESISTOR 1Q116W J
C462 NCB31HK-102X C CAPACITOR 1000pF 50V K R410 NRS181J-0R0X MG RESISTOR 0Q 1/8WJ
C463 NCB31HK-102X C CAPACITOR 1000pF 50V K R411 NRS181J-0R0X MG RESISTOR 0Q 1/8W J
C464 NCF31CZ-104X C CAPACITOR 0.1uF 16V Z R412 NRS181J-3R3X MG RESISTOR 3.3Q1/8W J
C466 NCF31CZ-104X C CAPACITOR 0.1uF 16V Z R413 NRS181J-3R3X MG RESISTOR 3.3Q1/8WJ
C467 NEAD1CM-106X E CAPACITOR 10uF 16V M R414 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
C468 NCB31CK-103X C CAPACITOR 0.01uF 16V K R422 NRSA63D-103X MG RESISTOR 10kQ 1/16W D
C470 NCB21AK-105X C CAPACITOR 1uF 10V K R423 NRSA63D-103X MG RESISTOR 10kQ 1/16W D
C4T1 NCB21AK-105X C CAPACITOR 1uF 10V K R424 NRSA63D-103X MG RESISTOR 10kQ 1/16W D
C472 NEAD1CM-106X E CAPACITOR 10uF 16V M R425 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
C496 NCB21AK-105X C CAPACITOR 1uF 10V K R426 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
C497 NCB21AK-105X C CAPACITOR 1uF 10V K R427 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
C501 NCF31CZ-104X C CAPACITOR 0.1uF 16V Z R428 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
C510 NEA71CM-106X E CAPACITOR 10uF 16V M R429 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
C511 NCF31CZ-104X C CAPACITOR 0.1uF 16V Z R430 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
C512 NCB31HK-102X C CAPACITOR 1000pF 50V K R431 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
C515 NCF31CZ-474X C CAPACITOR 0.47uF 16V Z R432 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
C521 NDC31HJ-101X C CAPACITOR 100pF 50V J R433 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
C591 NCF31CZ-104X C CAPACITOR 0.1uF 16V Z R434 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J

R435 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
R301 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J R436 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R302 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J R460 NRSAB3J-100X MG RESISTOR 10Q 1/16W J
R310 NRSA63J-271X MG RESISTOR 270Q 1/16W J R461 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
R311 NRSAB3J-394X MG RESISTOR 390kQ 1/16W J R471 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R312 NRSA63J-1R0X MG RESISTOR 1Q 1/16W J R473 NRSAB3J-471X MG RESISTOR 470Q 1/16W J
R313 NRSA63J-272X MG RESISTOR 2.7kQ 1116W J R474 NRSAB3J-471X MG RESISTOR 470Q 1/16W J
R314 NRSA63J-472X MG RESISTOR 4.7kQ 1/16W J R481 NRSA63J-433X MG RESISTOR 43kQ 1/16W J
R315 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J R482 NRSAB3J-563X MG RESISTOR 56kQ 1/16W J
R316 NRSA63J-474X MG RESISTOR 470kQ 1/16W J R495 NRSAB3J-471X MG RESISTOR 470Q 1/16W J
R317 NRSA63J-103X MG RESISTOR 10kQ 1/16W J R496 NRSAB3J-471X MG RESISTOR 470Q 1/16W J
R318 NRSA63J-103X MG RESISTOR 10kQ 1/16W J R498 NQR0354-001X FERRITE BEADS
R319 NRSA63J-473X MG RESISTOR 47kQ 1/16W J R499 NQR0354-001X FERRITE BEADS
R330 NRSA63J-820X MG RESISTOR 82Q 1/16W J R500 NRSAB3J-473X MG RESISTOR 47kQ 1/16W J
R331 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J R501 NRSA63J-473X MG RESISTOR 47kQ 1/16W J
R332 NRSA63J-473X MG RESISTOR 47kQ 1/16W J R502 NRSAG3J-331X MG RESISTOR 330Q 1/16W J
R333 NRSA63J-473X MG RESISTOR 47kQ 1/16W J R503 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R334 NRSA63J-473X MG RESISTOR 47kQ 1/16W J R504 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R336 NRSA63J-472X MG RESISTOR 4.7kQ 1116W J R505 NRSAB3J-473X MG RESISTOR 47kQ 1/16W J
R337 NRSA63J-5R6X MG RESISTOR 5.6Q 1/16W J R509 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
R342 NRSA63J-222X MG RESISTOR 2.2kQ 1/116W J R510 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R343 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J R511 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R345 NRSA63J-222X MG RESISTOR 2.2kQ 1116W J R512 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R350 NRSA63J-222X MG RESISTOR 2.2kQ 1116W J R513 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R351 NRSA63J-102X MG RESISTOR 1kQ 1/16W J R514 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
R352 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J R515 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R353 NRSA63J-102X MG RESISTOR 1kQ 1/16W J R516 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
R358 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J R517 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R360 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J R518 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R365 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J R519 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R366 NRSA63J-103X MG RESISTOR 10kQ 1/16W J R521 NRSAB3J-473X MG RESISTOR 47kQ 1/16W J
R367 NRSA63J-102X MG RESISTOR 1kQ 1/16W J R522 NRSA63J-473X MG RESISTOR 47kQ 1/16W J
R368 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J R523 NRSAB3J-473X MG RESISTOR 47kQ 1/16W J
R369 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J R526 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R370 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J R527 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R371 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J R528 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R372 NRSA63J-102X MG RESISTOR 1kQ 1/16W J R529 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
R373 NRSAB3J-473X MG RESISTOR 47kQ 1/16W J R530 NRSAB3J-302X MG RESISTOR 3kQ 1/16W J
R374 NRSA63J-473X MG RESISTOR 47kQ 1/16W J R535 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
R375 NRSA63J-331X MG RESISTOR 330Q 1/16W J R536 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
R376 NRSA63J-152X MG RESISTOR 1.5kQ 1/16W J R537 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R377 NRSA63J-152X MG RESISTOR 1.5kQ 1/16W J R538 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R378 NRSA63J-152X MG RESISTOR 1.5kQ 1/16W J R539 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R379 NRSA63J-152X MG RESISTOR 1.5kQ 1/16W J R545 NRSA63J-223X MG RESISTOR 22kQ 1/16W J
R380 NRSA63J-103X MG RESISTOR 10kQ 1/16W J R549 NRSAB3J-153X MG RESISTOR 15kQ 1/16W J
R381 NRSA63J-103X MG RESISTOR 10kQ 1/16W J R550 NRSAB3J-153X MG RESISTOR 15kQ 1/16W J
R382 NRSA63J-103X MG RESISTOR 10kQ 1/16W J R551 NRSAB3J-153X MG RESISTOR 15kQ 1/16W J
R384 NRSA63J-333X MG RESISTOR 33kQ 1/16W J R552 NRSAB3J-220X MG RESISTOR 22Q 1/116W J
R385 NRSA63J-221X MG RESISTOR 220Q 1/116W J R555 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
R386 NRSA63J-123X MG RESISTOR 12kQ 1/16W J R556 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
R387 NRSA63J-333X MG RESISTOR 33kQ 1/16W J R559 NRSA63J-302X MG RESISTOR 3kQ 1/16W J
R388 NRSA63J-472X MG RESISTOR 4.7kQ 1116W J R560 NRSAB3J-302X MG RESISTOR 3kQ 1/16W J

3-21



Head amplifier board

Block No. [0][9]

A\ SymbolNo.  Part No. Part Name Description Local
R561 NRSAG3J-302X MG RESISTOR 3kQ 1/16W J
R562 NRSAB3J-302X MG RESISTOR 3kQ 1/16W J
R564 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
R565 NRSAB3J-302X MG RESISTOR 3kQ 1/116W J
R570 NRSA63J-2R7X MG RESISTOR 2.7Q1116W J
R571 NRSAG3J-104X MG RESISTOR 100kQ 1/16W J
L525 NRS181J-0R0X MG RESISTOR 0Q 1/8W J
L526 NRS181J-0R0X MG RESISTOR 0Q 1/8WJ
CN310  QGF0527F2-21W CONNECTOR FFCIFPC (1-21)
CN407  QGF1006F2-08W CONNECTOR FFCIFPC (1-8)
CN408  QGF1006F2-09W CONNECTOR FFCIFPC (1-9)
CN521 QGF1006F2-21W CONNECTOR FFCIFPC (1-21)
CN522  QGF1006F2-08W CONNECTOR FFC/IFPC (1-8)
CN601 QGF1006F2-09W CONNECTOR FFCIFPC (1-9)
K491 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
K492 NRSAG3J-0R0X MG RESISTOR 0Q 1/16W J
K495 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
K496 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
K523 NQR0354-001X FERRITE BEADS
K524 NQR0354-001X FERRITE BEADS
K527 NRSAG3J-0R0X MG RESISTOR 0Q 1/16W J
K528 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
K529 NRSAG3J-0R0X MG RESISTOR 0Q 1/16W J
K530 NRSAG3J-0R0X MG RESISTOR 0Q 1/16W J
K531 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
K532 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
S601 NSW0165-001X DETECT SWICH
S602 NSW0213-001X PUSH SWITCH
TH301 NAD0030-103X THERMISTOR 10kQ
TH456 NRSA02J-0R0X MG RESISTOR 0Q 1/10W J
X300 NAX0476-001X CRYSTAL 33.8688MHz
X500 NAX0560-001X C RESONATOR 20.0MHz

MD switch board

Block No. [0][7]

A\ SymbolNo.  Part No. Part Name Description Local
CN611 QGF1016F3-08 CONNECTOR FFCIFPC (1-8)
CN612  QGA1501F1-02 CONNECTOR W-B (1-2)

S611 QSW0848-001 CAM SW

Cassette switch board

Block No. [0][8]

A\ SymbolNo.  Part No. Part Name Description Local
IC1 SG-105F3-BB,C PHOTO SENSER
D1 1SR139-400-T2 SI DIODE
R371 QRE141J-123Y C RESISTOR 12kQ 1/4W J
VR37 QVP0077-103Z TRIM RESISTOR 10kQ
CN1 QGF1205F1-09 CONNECTOR FFC/FPC (1-9)
FW100  QUMO024-07A2Z3 PARA RIBON WIRE
P1 QNZ0104-001 POST PIN
SW1 QSW0832-001 CASS.SWITCH
SW2 QSW0832-001 CASS.SWITCH
SW5 QSW0832-001 CASS.SWITCH
SW6 QSW0859-001 DETECT SWITCH

3-22

A\ Symbol No.  Part No. Part Name Description

IC32 HA12238F IC R/P Equalizer
Serial to parallel

IC33 CD4094BC IC port exteﬁsi i
Q302 28C2001/K/-T TRANSISTOR
Q305 28C2001/K/-T TRANSISTOR
Q342 KRAT11M-T DIGI TRANSISTOR
Q343 28C3576-JVC-T TRANSISTOR
Q344 2SC3576-JVC-T TRANSISTOR
Q345 28C3576-JVC-T TRANSISTOR
Q346 28C3576-JVC-T TRANSISTOR
Q347 KRC107M-T DIGI TRANSISTOR
Q371 KTA1271/QY/-T TRANSISTOR
Q372 KRC107M-T DIGI TRANSISTOR
Q375 2SB562/C/-T TRANSISTOR
Q376 KTC3199/GL/-T TRANSISTOR
D340 MTZJ5.1B-T2 Z DIODE
D375 MTZJ5.1B-T2 Z DIODE
C101 QDGB1HK-821Y C CAPACITOR 820pF 50V K
C102 QDYB1CM-103Y C CAPACITOR 0.01uF 16V M
Cc103 QFLA1HJ-104Z M CAPACITOR 0.1uF 50V J
C104 QCBB1HK-221Y C CAPACITOR 220pF 50V K
C105 QCBB1HK-391Y C CAPACITOR 390pF 50V K
C106 QERF1HM-225Z E CAPACITOR 2.2uF 50V M
c107 QCBB1HK-271Y C CAPACITOR 270pF 50V K
C109 QEKJ1EM-475Z E CAPACITOR 4.7TuF 25V M
Cc110 QDYB1CM-682Y C CAPACITOR 6800pF 16V M
Cc113 QFLA1HJ-104Z M CAPACITOR 0.1uF 50V J
C120 QCSB1HK-4R7Y C CAPACITOR 4.7pF 50V K
C121 QCBB1HK-331Y C CAPACITOR 330pF 50V K
C201 QDGB1HK-821Y C CAPACITOR 820pF 50V K
C202 QDYB1CM-103Y C CAPACITOR 0.01uF 16V M
C203 QFLA1HJ-1042 M CAPACITOR 0.1uF 50V J
C204 QCBB1HK-221Y C CAPACITOR 220pF 50V K
C205 QCBB1HK-391Y C CAPACITOR 390pF 50V K
C206 QERF1HM-225Z E CAPACITOR 2.2uF 50V M
C207 QCBB1HK-271Y C CAPACITOR 270pF 50V K
C209 QEKJ1EM-475Z E CAPACITOR 4.7uF 25V M
C210 QDYB1CM-682Y C CAPACITOR 6800pF 16V M
C213 QFLA1HJ-1042 M CAPACITOR 0.1uF 50V J
C220 QCSB1HK-4R7Y C CAPACITOR 4.7pF 50V K
C221 QCBB1HK-331Y C CAPACITOR 330pF 50V K
C300 QEKJ1HM-105Z E CAPACITOR 1uF 50V M
C301 QEKJ1AM-107Z E CAPACITOR 100uF 10V M
C304 QEKJ1CM-106Z E CAPACITOR 10uF 16V M
C306 FQETJ1AM-227Z E CAPACITOR
C307 QDGB1HK-102Y C CAPACITOR 1000pF 50V K
C308 QDXB1CM-152Y C CAPACITOR 1500pF 16V M
C310 QCBB1HK-223Y C CAPACITOR 0.022uF 50V K
C313 QEKJ1AM-107Z E CAPACITOR 100uF 10V M
C314 QCFB1HZ-105Y C CAPACITOR 1uF 50V Z
C316 QFG32AJ-223Z PP CAPACITOR 0.022uF 100V J
C319 QFLC1HJ-472Z M CAPACITOR 4700pF 50V J
C331 QEKJ1CM-476Z E CAPACITOR 47uF 16V M
C340 QEKJ1CM-476Z E CAPACITOR 47uF 16V M
C341 QEKJ1HM-105Z E CAPACITOR 1uF 50V M
C342 QEKJ1CM-476Z E CAPACITOR 47uF 16V M
C371 QEKJ1EM-475Z E CAPACITOR 4.TuF 25V M
C374 QEKJ1AM-107Z E CAPACITOR 100uF 10V M
C376 QDYB1CM-103Y C CAPACITOR 0.01uF 16V M
R101 QRE141J-512Y C RESISTOR 5.1kQ 1/4W J
R102 QRE141J-512Y C RESISTOR 5.1kQ 1/4W J
R104 QRE141J-222Y C RESISTOR 2.2kQ 1/4W J
R105 QRE141J-104Y C RESISTOR 100kQ 1/4W J
R106 QRE141J-113Y C RESISTOR 11kQ 1/4W J
R107 QRE141J-912Y C RESISTOR 9.1kQ 1/4W J
R108 QRE141J-273Y C RESISTOR 27kQ 1/4W J
R110 QRE141J-103Y C RESISTOR 10kQ 1/4W J
R116 QRE141J-102Y C RESISTOR 1kQ 1/4W J
R121 QRE141J-153Y C RESISTOR 15kQ 1/4W J
R201 QRE141J-512Y C RESISTOR 5.1kQ 1/4W J



A\ SymbolNo.  Part No. Part Name Description Local
R202 QRE141J-512Y C RESISTOR 5.1kQ 1/4W J
R204 QRE141J-222Y C RESISTOR 2.2kQ 1/4W J
R205 QRE141J-104Y C RESISTOR 100kQ 1/4W J
R206 QRE141J-113Y C RESISTOR 11kQ 1/4W J
R207 QRE141J-912Y C RESISTOR 9.1kQ 1/4W J
R208 QRE141J-273Y C RESISTOR 27kQ 1/4W J
R210 QRE141J-103Y C RESISTOR 10kQ 1/4W J
R216 QRE141J-102Y C RESISTOR 1kQ 1/4W J
R221 QRE141J-153Y C RESISTOR 15kQ 1/4W J
R301 QRE141J-221Y C RESISTOR 220Q 1/4W J
R302 QRE141J-222Y C RESISTOR 2.2kQ 1/4W J
R303 QRE141J-222Y C RESISTOR 2.2kQ 1/4W J

AR304 QRJ146J-101X UNF CRESISTOR  100Q 1/4W J
R305 QRE141J-103Y C RESISTOR 10kQ 1/4W J
R306 QRE141J-472Y C RESISTOR 4.7kQ 1/4W J

AR310 QRJ146J-4R7X UNF CRESISTOR ~ 4.7Q 1/4W J
R313 QRE141J-2R2Y C RESISTOR 2.2Q 1/4W J
R314 QRE141J-153Y C RESISTOR 15kQ 1/4W J
R315 QRE141J-101Y C RESISTOR 100Q 1/4W J
R327 QRE141J-474Y C RESISTOR 470kQ 1/4W J
R335 QRE141J-222Y C RESISTOR 2.2kQ 1/4W J
R336 QRE141J-223Y C RESISTOR 22kQ 1/4W J
R337 QRE141J-332Y C RESISTOR 3.3kQ 1/4W J
R338 QRE141J-392Y C RESISTOR 3.9kQ 1/4W J
R339 QRE141J-104Y C RESISTOR 100kQ 1/4W J
R340 QRE141J-681Y C RESISTOR 680Q 1/4W J
R341 QRE141J-123Y C RESISTOR 12kQ 1/4W J
R342 QRE141J-243Y C RESISTOR 24kQ 1/4W J
R343 QRE141J-183Y C RESISTOR 18kQ 1/4W J
R344 QRE141J-472Y C RESISTOR 4.7kQ 1/4W J
R345 QRE141J-472Y C RESISTOR 4.7kQ 1/4W J
R346 QRE141J-472Y C RESISTOR 4.7kQ 1/4W J
R347 QRE141J-103Y C RESISTOR 10kQ 1/4W J

A\R353 QRZ9005-100X FUSI RESISTOR 10Q
R372 QRE141J-102Y C RESISTOR 1kQ 1/4W J
R375 QRE141J-151Y C RESISTOR 150Q 1/4W J
R376 QRE141J-472Y C RESISTOR 4.7kQ 1/4W J
VR31 QVP0008-203Z TRIM RESISTOR 20kQ
L301 QQR1118-002 0OSC COIL(BIAS)

L303 QQL244K-100Z CoIL 10uH K

CN31 QGF1205F1-06 CONNECTOR FFCIFPC (1-6)
CN32 QGF1205F1-09 CONNECTOR FFCIFPC (1-9)
CN33 QGF1205F1-09 CONNECTOR FFCIFPC (1-9)
CN34 QGF1201F3-10 CONNECTOR FFC/FPC (1-10)
H32 GV40397-002A IC HOLDER

3-23



Packing materials and accessories parts list
Block No.

A1 A2 A3

e

A4 A5 A6

3-24



Packing and Accessories

Block No. [M][3][M][M]

A Symbol No. Part No. Part Name Description Local
A1 LVT1218-002A INST BOOK ENG,CHI(PEKIN)
A2 RM-SUXQ1U REMOCON
A3 e BATTERY (x2)
A4 LV30258-0B1A UB SHEET Q1S
A4 LV30258-0B4A UB SHEET Q1w
A5 QAL0457-001 ANT.WIRE
A6 QAL0014-001 AM LOOP ANT
A7 SPUXQ1SU-SPBOX SPK WITH BOX (x2) Q1S
A7 SPUXQ1WU-SPBOX SPK WITH BOX (x2) Q1w
P 1 LV35372-001A CARTON Q18
P 1 LV35372-002A CARTON Q1w
P2 LV21853-001A CUSHION(TOP)
P3 LV21854-001A CUSHION(BOTTOM)
P 4 LV35373-001A CARTON SPACER
P5 LV35388-001A CARTON SHEET
P 6 QPC05006515P POLY BAG 50cm x 65cm
P7 QPA01503503 POLY BAG 15¢m x 35¢cm
P8 QPC02503510P POLY BAG 25cm x 35cm
P9 LV35299-001A TOP CUSHION
P10 LV35299-002A BOTTOM CUSHION
P11 8500048081 MIRROR SHEET (x2)
P12 8500041601 POLY BAG (x2)

3-25



	Topcover
	Block diagrams
	﻿Standard schematic diagrams
	﻿Printed circuit boards
	Backcover
	Cover
	Exploded view of general assembly and parts list (Block No.M1)
	General Assembly

	Speaker assembly and parts list (Block No.M2)
	Speaker

	CD mechanism assembly and parts list (Block No.MB)
	CD mechanism

	CD loading base assembly and parts list (Block No.MD)
	CD loading base

	MD mechanism assembly and parts list (Block No.ME)
	MD mechanism

	Cassette mechanism assembly and parts list (Block No.MP)
	Cassette mechanism

	Electrical parts list (Block No.01~09)
	Main board
	Micon board
	CD servo board
	CD loading switch board
	LED board
	MD servo control board
	MD switch board
	Cassette switch board
	Head amplifier board

	Packing materials and accessories parts list (Block No.M3)
	Packing and Accessories


